SUPPLEMENTARY QUESTIONS FOR LECTURERS

CHAPTER 2

2.1 There follows a list of organisations operating in the Northfields area, along with a brief description of the nature of each:


Northfields Passenger Transport Ltd
bus and coach operator


Dinnie, Kerr & Co


firm of accountants


NPP plc



paint manufacturer


Northfields Electrical & Plumbing
small firm of jobbing electricians & 







plumbers


NF Engineering Ltd


light engineering company


CRE Courier Services


motorcycle delivery service


Window Systems Ltd


manufacturer & installer of double 







glazing


Fit Feet




chiropodist


Maritime Projects Ltd


boatbuilder

REQUIREMENTS:

(a) Suggest a costing methodology suitable for each of the above organisations, providing a brief explanation of your choice.

(b) Window Systems Ltd’s production function is divided into two cost centres - the assembly department and the finishing department - and some of the costs incurred in a typical year are given below:


depreciation of machinery in the assembly department


insurance of factory premises

advertising costs


UPVC for double glazing units
wages of shop floor operatives


supervisory salaries for each of the assembly and finishing departments


salaries of office staff


depreciation of office equipment


telephone & postage costs

office stationery


shatter-proof glass


factory rent & rates


royalty payment to designers for each glazing unit produced

Assuming the cost objective to be Window Systems Ltd’s cost units (i.e. units of output), classify the costs above into direct and indirect, sub-dividing each category into materials, labour and expenses.

(c) How (if at all) would the classification in (b) alter assuming the cost objective to be each of the assembly and finishing departments?

(d) Explain the concept of just-in-time and discuss the extent to which Window Systems Ltd may already employ JIT; what benefits and potential problems might stem from use of JIT purchasing (assuming it is not already in use)?

2.2 Figure 2.1 illustrates six different patterns of cost behaviour relative to volume of activity.
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Figure 2.1: six different cost behaviour patterns

Requirement

Consider each of the costs described below and match its behaviour with the appropriate diagram (A-F) from Figure 2.1.

1. Payment of a royalty to one of its authors by a publisher, comprising £3 per copy sold, subject to a maximum payment of £60 000.

2. Rates paid by a charity on premises; the local authority makes no charge until the volume of work undertaken on these premises exceeds 20 000 man-hours, above which a fixed amount is payable.

3. Commission paid to sales staff: no commission is payable until a minimum of £10 000 in sales has been achieved; above this level of sales, commission is payable at the standard rate of 5% of sales value.

4. Material purchases: a minimum order sufficient to cover production of 5000 units is required, above which materials can be purchased as required at a constant cost of £4 per unit of output.

5. Output-related bonus: for volumes between 0-2000 units, no bonus is payable; for output between 2001-5000 units, a bonus of £0.50 per unit is payable; and for output of 5001 units and above, a bonus of £0.75 per unit is payable.

6. Maintenance operatives’ wages: each maintenance operative is capable of maintaining a maximum of three machines.

CHAPTER 3

3.1 Figure 3.1 is a scattergraph prepared from previous periods’ total selling costs and unit sales volumes:
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Figure 3.1: scattergraph of total selling costs and unit sales volumes
One of the total costs plotted in Figure 3.1 is £660 000, with an associated unit sales

 volume of 200 000. Use this cost and activity information in conjunction with Figure 3.1 to provide an estimate of the variable selling cost per unit.

3.2 MJ Ltd, a light engineering company, is attempting to estimate next year’s production costs using data from the last six years’ operations as the basis:



Year

Total Production Cost

Output (units)




(adjusted for inflation)



19X3

        £   520 000

      400 000



19X4

        £   250 000

      200 000



19X5

        £   710 000

      600 000



19X6

        £   680 000

      520 000



19X7

        £1 850 000

   1 800 000



19X8

        £   600 000

      440 000

Estimated output for 19X9 is 560 000 units.

REQUIREMENTS:

(a) Use high-low and linear regression analysis to obtain estimates of the fixed production cost per year and the variable production cost per unit of output. 

(b) On the basis of  each of your answers to (a), provide an estimate of the total production cost for 19X9. Comment on the results.

(c) The company’s management accountant has stated that the past data supplied is particularly unsuitable for high-low analysis. Comment briefly on her reasoning and suggest how this problem might be overcome.

3.3 Grove TV is in the process of preparing its budget for 19X6 and, as part of this process, requries an estimate of programme-related costs. These are believed to be partly fixed and partly variable with the number of broadcast hours. Examination of past records 

reveals the following:



Total programme-
Broadcast hours
Inflation 



    related costs




  index


19X0
    £6 850 000

        400

 103.6


19X1
    £6 360 000

        300

 106.1


19X2
    £6 810 000

        380

 108.2


19X3
    £6 960 000

        470

 109.4


19X4
    £6 880 000

        440

 112.0


19X5
    £6 730 000

        460

 114.8

The anticipated inflation index and number of broadcast hours for 19X6 are, respectively, 117.3 and 720.

REQUIREMENTS

(a) Obtain an estimate of total programme-related cost for 19X6 using:
(i) high-low analysis; and

(ii) regression analysis.

(Work to the nearest whole £1 and £1000 for variable and fixed costs respectively).

State and briefly discuss the strengths and weaknesses of the estimation techniques used in (a).

(b) Suggest three possible sources from which Grove TV could have obtained the 19X6 inflation index.
(c) Explain the significance of the “single factor assumption” to the estimation exercise in (a), commenting on its likely validity in the circumstances.
CHAPTER 4

4.1 Mrs Ferguson, a client, has recently commenced trade. She wishes to choose a stock valuation method which will minimise her gross profit.

(a) Use the following information to calculate the stock value at the end of January and recommend a valuation method. Use both the “first in first out” and the “average cost” methods of stock valuation. Your answer should be in the form of a ledger card.







(14 marks)

(b) Assuming sales for the month are £265 000, calculate gross profit for each method of stock valuation.






(  2 marks)

   (Total 16 marks)


Date

        Receipts


Issues

January

Units

 £

Units


     4

170

690


     7

130

720

10 60

14

  36

725

21





120

26

130

800

30 186

(CIOBS Business Accounting, May 1996)

4.2 A businessman employs 20 sewing machinists but he is aware that ten are better workers than the others. He is considering a training programme for his ten “less efficient” machinists to increase their efficiency to be equal to that achieved by his “better” workers.

Relevant data are:

· All the 20 machinists are paid on a piece work system and are engaged on similar work; £0.22 per garment is paid for each good garment produced.

· To rectify each rejected garment costs £0.40; this work is done by sub-contractors (outworkers at home).

There is one sewing machine for each machinist.

· The garment machining department operates for 2000 hours per year.

· Average output per machinist is 12 good garments per hour with 1 reject per worker per hour. However, ten “less efficient” machinists averaged only 10 good garments per hour with 1.5 rejects per worker per hour while the other ten “better” machinists averaged 14 good garments per hour with 0.5 rejects per worker per hour.

· Depreciation for each sewing machine is £1000 per year and the variable costs for power, cleaning and preventive maintenance is £0.50 per hour per machine.

· Fixed production overhead, other than depreciation, is being absorbed at £3 per sewing machine hour.

· Selling price per garment is £1.90.

· Direct material cost per garment is £1.20.

· Training will not reduce productive hours because it will be undertaken outside the normal working week.

· The demand for output is increasing so it can be assumed that what can be made can be sold.

You are required

to prepare a statement of annual comparative costs for the “better” workers and the “less efficient” workers, excluding direct material costs;

  7 marks

(a) to state the financial benefit to the business, over a one-year period, if £10000 is spent on a training course for the “less efficient” workers, assuming that their efficiency would then match that of the “better” workers.

  6 marks
(b) to state two non-financial benefits, other than an increase in productivity, which may arise if the training programme is undertaken.


  2 marks
 Total: 15 marks

(CIMA Cost Accounting, November 1993)

4.3 A contract cleaning firm estimates that it will take 2520 actual cleaning hours to clean an office block. Unavoidable interruptions and lost time are estimated to take 10% of the operatives’ time. If the wage rate is £4 per hour, what is the budgeted labour cost?


A
£10 080


B
£11 088


C
£11 200


D
£12 197

(CIMA Cost Accounting & Quantitative Methods, May 1998)

The following information should be used for Questions 4.4 and 4.5
A domestic appliance retailer with multiple outlets stocks a popular toaster known as the Autocrisp 2000, for which the following information is available:



Average sales



75 per day



Maximum sales



95 per day



Minimum sales



50 per day



Lead time



12 – 18 days



Re-order quantity


1750

4.4 Based on the data above, at what level of stocks would a replenishment order be issued?


A
1050


B
1330


C
1710


D
1750

(CIMA Cost Accounting & Quantitative Methods, May 1999)
4.5 Based on the data above, what is the maximum level of stocks possible?


A
1750


B
2860


C
3460


D
5210

(CIMA Cost Accounting & Quantitative Methods, May 1999)

4.6 Because of a software virus, some of NL Ltd’s computerised stock records have been accidentally erased. Presented below is what remained of the stores ledger account for material code 2001/W after this occurred.

Material code: 2001/W                                         Description: Flanged & drilled dosp




Receipts
Issues
Balance

Date
Goods received/

Advice note
Quantity
Cost/ 

 Unit

   £
Amount

      £
Stores requisition

No.
Quantity
Amount

      £
Quantity
Amount

      £

  1 Aug

  3 Aug

  5 Aug

12 Aug

16 Aug

21 Aug

27 Aug

29 Aug

       E

     150

     300

  6000

      G
  6000

   140

     C
      I
    350
      B
  2720

      J

      K
      A
    310

    140

    440

      H
    390

      40

    340
 7 200

 4 960

     D

     F

11 540

  8 100

     L
  6 880

REQUIREMENT

Calculate the value of each of the missing figures A – L in the stores ledger account above.

CHAPTER 5

5.1 (This question could also be used for Chapter 11 – Service Costing)

CD & Co, a firm of solicitors, charges its clients on an hourly basis. In order to determine this charge per hour, the firm wishes to absorb its overheads into the cost per client/hour. For the purpose of determining unit costs, the firm is divided into three “front-line” cost centres: Civil, Criminal and Property. The following estimates are available for next year:






Civil

Criminal
Property
No of junior partners/employees
   12

       9

     4

No of offices occupied


     5

       3

     2

No of client/hours


14 000
   
  16 000
  10 000
Overhead costs





    £


Salary of senior partner in charge:
Civil 

70 000







Criminal
80 000







Property
60 000


Rates and other occupancy costs:


26 000


Employee benefits




50 000


General (e.g. stationery & printing)


20 000

REQUIREMENTS:

(a) Calculate a blanket absorption rate per hour for CD & Co’s operations next year.

(b) Using the data given, allocate and apportion the estimated overhead costs to each of the firm’s three cost centres and on the basis of the resulting departmental overhead totals, compute an absorption rate for each cost centre.

(c) Comment on the suitability of each of the approaches taken in (a) and (b) to CD & Co’s circumstances.

5.2 HPW Ltd is a printing company which specialises in technical publications and a plantwide machine hour absorption rate is in use. At present, the volume measure incorporated in the absorption rate is annual budgeted volume, but management is considering a change to either practical capacity or normal volume. Next year’s production overhead cost (all fixed) is estimated at £600 000. Relevant information about volume levels is given below:


Budgeted volume
250 000 machine hours

Practical capacity
budgeted volume represents 80% of  current 

maximum operational capacity


Normal volume

the company’s strategic plan suggests that the number 

of machine hours necessary in each of the next six years in order to satisfy demand will be:






Year 1
Year 2
Year 3
Year 4
Year 5
Year 6



000 machine hours
  250
  340
  370
  260
  350
  380

(the strategic plan also envisages a substantial investment in increased operating capacity at the start of Year 2)

REQUIREMENTS:

(a) Calculate, to two decimal places of £1, machine hour absorption rates based on:



1.
annual budgeted volume;



2.
practical capacity; and 



3.
normal volume.

(b) Assume that, for the year to which the absorption rates in (a) apply, 260 000 machine hours were actually worked and overhead incurred was £595 000. Determine, for each of the absorption rates in (a), the amount of under- or overabsorbed overhead.

(c) Evaluate the proposed use of practical capacity and normal volume by HPW Ltd for next year’s absorption rate.

5.3 QB Limited is a manufacturer of plastic sheeting. It manufactures only to customers’ specific requests and does not carry any stock of “ready made” sheeting. The only stocks it does hold in its storeroom are raw materials from which the sheeting is produced.

The company has two production departments, cutting and finishing. It also has two service departments: the stores and the canteen. The production departments and the stores and canteen are located within a single building.

The information provided below has been extracted from the company’s budget for the next financial year, which ends on 30 June 1999.

Overhead budget for the year ended 30 June 1999


     £
Factory rent (including storeroom and canteen)



220 000

Factory premises insurance (including storeroom and canteen)

  11 000

Sundry expenses – cutting department




    8 540

Sundry expenses – finishing department



    4 150

Machinery insurance






    3 900

Depreciation of factory plant and machinery



  24 000

Finishing department materials





  10 000

Indirect labour (including storeroom and canteen)


176 000

Administration salaries (see note below)



  24 000

Sundry storeroom costs





  13 370

Canteen materials and other costs




  29 640
Total








524 600
Note: Administration salaries are to be apportioned equally to the cutting department, the finishing department and the storeroom.

The following information is also relevant:

Department

 Floor area
     Indirect
     Direct
Value of plant




(Sq. metres)
     labour
    labour        and machinery (£)
Cutting


   100 000
6 employees
24 employees
    220 000

Finishing

   100 000
6 employees
40 employees
      50 000

Storeroom

     10 000
2 employees
  2 employees
      10 000

Canteen

     10 000 
2 employees
  3 employees
      20 000

Service centre costs are apportioned as follows:

Department

Basis

Canteen

Total number of employees

Storeroom

70% to the cutting department, 30% to the finishing department

The company has also budgeted the following levels of activity for the year ended 30 June 1999:

Department

Labour hours

Machine hours

Cutting


      2900

       4700

Finishing

      4200

         680

Required:
(a) Using appropriate bases of apportionment and appropriate allocations prepare an overhead distribution schedule for QB Limited for the year ended 30 June 1999.









(19 marks)

(b) Using appropriate bases, re-apportion the service department costs to the production departments.






(  5 marks)

If the cutting department absorbs overhead using a machine hour basis, and the finishing department absorbs overhead using a labour hour basis, calculate the overhead absorption rates for each of the two production departments for the year ended 30 June 1999.





(  2 marks)

(d) Using the rates calculated in your answer to (c) above, estimate the amount of overhead to be charged to job XY129 that would require the following labour and machine hours:

Department

Labour hours

Machine hours

Cutting


         29

          40

Finishing


         30

            6
(  2 marks)

(e) Suggest why it is appropriate for the cutting department to use a machine hour basis to recover its overhead and for the finishing department to use a labour hour basis.









(  2 marks)

(30 marks)

(ACCA Cost Accounting Systems, June 1998)
5.4 (This question could also be used for Chapter 11 – Service Costing)

You have recently been appointed as management accountant of the ST hotel, an establishment having capacity for 100 guests. The hotel is open for business for 40 weeks per annum (7days per week) and is well-known for its restaurant service and friendly lounge bar.

Charges for accommodation are £30 per person per night. The hotel occupancy percentage is budgeted at 70%.

In the restaurant, the average expenditure on meals is £15 per person (excluding drinks) and the target gross profit is 60% of sales. Any drinks ordered with

restaurant meals are supplied from the bar which is accounted for separately. The budgeted number of meals to be sold in the year to 31 December 1997 is 12 000.

The bar sells light meals and snacks which are supplied from the kitchen, in addition to selling drinks via the restaurant and to its own customers. The expected gross profit on bar sales (food and drinks) is 45% of sales value.

The hotel functions are Accommodation, Restaurant, Bar, Kitchen services, Maintenance services and General administration. Costs are collected and where possible allocated to the different functions of the hotel. However, it is not possible to allocate all of the costs, so some have to be apportioned between the various functional areas of the hotel which benefit from them.

The following costs have been predicted for the year ending 31 December 1997:









    £

    £

Wages and salaries


Restaurant





12 000


Bar






  9 000


Kitchen






20 000


Maintenance





18 000


General administration




12 000

71 000

Food purchases – Kitchen






96 000

Drinks purchases – Bar







50 000

Rates









20 250

Electricity








  8 000

Telephone








  5 000

Insurance








  4 600

Depreciation








  8 000

Laundry








  4 500

Maintenance materials







  3 000

Miscellaneous








  3 000

The following bases of cost apportionment are to be used:

Rates – floor area occupied:


Accommodation

600 square metres


Restaurant


  30 square metres


Bar



  15 square metres


Kitchen



  20 square metres


Administration


  10 square metres

Electricity is to be shared on a percentage basis:


Accommodation

25%


Restaurant


  5%


Bar



  4%


Kitchen



50%


Administration


16%

Telephone cost is to be shared on a percentage basis:


Kitchen



20%


Administration


80%

Insurance and depreciation:


Accommodation

30%


Restaurant


15%


Bar



10%


Kitchen



40%


Administration


  5%

Laundry:


Accommodation

90%


Restaurant


10%

Miscellaneous costs are to be treated as an administration item.

The costs of the service departments are to be apportioned as follows:


Kitchen

75% to the Restaurant and 25% to the Bar.


Maintenance

50% to Accommodation; 20% to Kitchen;





10% each to Restaurant, Bar and Administration.


Administration

70% to Accommodation; 20% to Restaurant and





10% to Maintenance.

REQUIREMENTS:

(a) Prepare a departmental profit and loss account, showing clearly, in columns, the budgeted profit from each of Accommodation, Restaurant and Bar.

15 Marks
(b) Calculate:

(i) the cost per guest-night,

(ii) the overhead cost per meal served in the Restaurant, and

(iii) the overhead cost as a percentage of the sales value for the Bar.

  









6 Marks

(c) Explain how the hotel management may make use of the departmental profit and loss account AND of your calculations in (b) above.

  

4 Marks
       Total Marks = 25

(CIMA Operational Cost Accounting, November 1996)
CHAPTER 6

6.1 NLS Ltd provides commercial laundry services to local hospitals and nursing homes, two prisons and a variety of other organisations. The company currently absorbs overheads on the basis of a departmental rate for each of its two operational cost centres, Transport and Laundry, but is considering adoption of activity based costing next year. Because of the bulk nature of the company’s work, NLS Ltd’s cost unit is 100 individual items of laundry, this being the basis upon which unit costs are calculated.

Estimated data for next year: existing absorption method
Total number of cost units to be processed

  48 000

Total transport kilometres for collection/delivery
100 000

Total overhead





£400 000
Allocation & apportionment of total overhead

70% to Laundry








30% to Transport

Additional data resulting from ABC study
Main Activities



Cost Driver


Cost Pool









   (% of total overhead)

collection & delivery of laundry
    100 000 transport km
 
    15%

loading/unloading of vans
        8 000 transport runs

    10%

laundry



    300 000 kg dry weight of items 








cleaned


    30%

drying



    400 000 kg wet weight of items 








cleaned


    25%

steam pressing


       48 000 cost units


    20%

Data for two sample contracts







Hillsmere
Goreton







 Hospital
  Prison
No of cost units of 100 items



   9000

   2000

No of transport runs




   1200

     300

Transport km





   6000

   8000

Average dry weight per cost unit of 100 items

     4 kg

     2 kg

Average wet weight per cost unit of 100 items
  
  5.3 kg

  3.3 kg

REQUIREMENTS:

(a) Using NLS Ltd’s existing method, compute an appropriate absorption rate for each of the Transport and Laundry cost centres.

(b) Determine the absorption rate applicable to each activity assuming an activity based costing system were in operation.

(c) Calculate the overhead absorbed by each of the Hillsmere and Goreton contracts if:


1. the absorption rates in (a) are applied; and


2. the absorption rates in (b) are applied.

(d) Does your answer to (c) provide any support for the proposed change to activity based costing? Explain your reasoning.

6.2 TMM Ltd operates a large vehicle testing, service and repair centre at Holborough and is revising its costing procedures. Overheads are presently absorbed using a plantwide rate based on direct labour cost, but management feels that this results in inaccurate unit costs.

The following estimates are available for next year:

Departments



Servicing &
 MoT
Tyres &
Office





   Repairs
Testing
Exhausts

Floor area (metres2)


     4000
  3500
   2000

   500

Number of employees


        20

     15
      10

     5

Direct wages costs


£300 000
£240 000 £180 000     £80 000

Number of equipment hours

     2000
   6000
   4000

     nil

Number of tests


        nil

   7000     nil

     nil

Number of parts orders


     1500
      nil
   2500

     nil

Vehicle recoveries


       600
      nil
     nil

     nil

Overhead costs
Wage-related overheads: 20% of total wages costs.

Rent, rates & insurance on premises:

£30 000

Departmental supervision:
Repairs £20 000, MoT Testing £24 000, Tyres & 




Exhausts £22 000, Office £30 000

MoT stationery & related costs:

£  2 000

Vehicle recovery costs:



£10 000

Parts ordering costs:



£14 000

Equipment maintenance & running costs:
£60 000

Lighting & heating:



£12 000

Sundry office administration costs:

£30 000

REQUIREMENTS:

(a) Calculate, to the nearest whole 1%, TMM Ltd’s plantwide direct labour cost absorption rate for next year.

(b) Primary and secondary distribution of overheads yields the following departmental totals:

Servicing & Repairs
£142 567



MoT Testing

£153 250





Tyres & Exhausts
£118 183

Compute (to the nearest whole 1%) departmental direct labour cost absorption rates for each of Servicing & Repairs, MoT Testing and Tyres & Exhausts.

(c) An investigation of TMM Ltd’s operations reveals that the main activities and related share of total company overhead are:


labour-related work


40%


equipment usage


35%


ordering & receipt of parts

15%


MoT administration


10%

From the information available, develop a suitable cost driver absorption rate for each of these activities.

(d) Data for two jobs currently in hand are:








Job 1014
Job 1022

Parts’ cost




   £200

      nil


Direct labour costs:
Servicing & Repairs
   £  40

   £  10





MoT Testing

   £  20

   £  20





Tyres & Exhausts
   £  40

   £  50







   £100

  £   80

Parts’ orders




       1

     nil

   


Equipment usage



     0.5 hour
   4 hours

Determine the full cost of each job using:


1. the plantwide absorption rate in (a);


2. the departmental absorption rates in (b); and


3. the cost driver absorption rates in (c).

Explain whether the different job costs resulting from application of these absorption rates confirm or refute management’s feeling that the existing rate may lead to inaccurate job costs.

CHAPTER 7
7.1 ABC Consulting Ltd employs four full-time consultants, together with two support staff, and provides a business consultancy service to engineering companies.

Each consultant earns a salary, which, together with related employment costs, is expected to total £63 000 in 1999. Each consultant is expected to work for 35 hours per week, 45 weeks per year.

ABC Consulting Ltd's work is project-based and costs are collected against projects (WIP) on the following bases:


Consulting time


£45 per consulting hour


Administration overhead

£15 per consulting hour


Travel costs - motor


£0.40 per mile


Rechargeable project expenses
At cost

Clients are charged according to the following fee scale:


Consulting time


£80.00 per consulting hour


Travel costs - motor


£0.50 per mile


Rechargeable project expenses
At cost

The following balances have been extracted from the accounting records of ABC Consulting Ltd at 31 March 1999.









  DR

 CR









    £

  £


Uncompleted projects (work-in-progress)

16 425


Debtors' control




15 800


Creditors' control






1 400

The following data relates to April 1999:

(1) Costs incurred:

Consultants' salaries and related costs

£22 200

Travel costs - motor



  £2 100

Rechargeable project expenses


  £1 350

Administration overhead


  £6 900

(2) Details extracted from project records:

Consultancy hours



       485

Chargeable mileage



    4 477 miles

(3) Invoices were issued to clients based on:

Consultancy hours



       575

Chargeable mileage



    5 888 miles

Rechargeable project expenses


     £939

(4) Receipts from clients totalled £14 120.

(5) Payments made to creditors:

Consultants' salaries and related costs

£22 200

Travel costs - motor



£  1 800

Rechargeable project expenses


£  1 450

Administration overhead


£  7 420

Ignore VAT.

REQUIREMENTS:

(a) Write up the transactions for April 1999 using the following ledger accounts:

· Uncompleted projects (work-in-progress)

· Debtors' control

· Creditors' control

· Travel costs - motor control

· Consultants' salary cost control

· Administration overhead control

· Fees invoiced (sales)

· Project costs invoiced (cost of sales)


17 Marks
(b) Prepare a profit/loss statement for April 1999.


  5 Marks
(c) Explain, using examples, the different types of specific order costing methods used by organisations. Your explanation should make reference to the characteristics of each method, and why it may be appropriate.


  
8 Marks
            Total Marks = 30
(CIMA Operational Cost Accounting, May 1999)

7.2 XYZ plc provides engineering services to a number of small businesses in Wyetown.

Its services comprise milling, turning and grinding, each of which is a separate cost centre within XYZ plc. The company prepares its accounts annually to 31 October, and extracted the following balances from its trial balance on 30 September 1999:








  Dr

  Cr








£000

£000

Sales 







1650


Cost of sales




1095


Work-in-progress



    22


Production overhead





     12


Finished goods




       3


Selling and administration costs

   
     48

XYZ plc operates an absorption costing system using the following machine hour absorption rates:




Milling

£7.50




Turning
£8.00




Grinding
£9.00

During October 1999 XYZ plc had the following transactions:


Incurred costs



£000

Direct materials


    40


Indirect materials


      8


Direct labour



    60


Indirect labour



    12


Indirect production expenses

    24


Selling and administration costs

      5

The valuation of work-in-progress and finished goods stock on 31 October 1999 was:







£000

Work-in-progress


    20


Finished goods



      4

During October 1999 the sales made to customers achieved gross profit of 25% of sales value. The number of machine hours during October 1999 were:


Milling

2400 hours


Turning
1800 hours


Grinding
1600 hours

REQUIREMENTS:

Explain briefly the main reasons why organisations such as XYZ plc use absorption costing rather than marginal costing.



  4 Marks

(a) Write up the following ledger accounts commencing with the balances on 30 September 1999:

Work-in-progress;

Finished goods;

Production overhead.




12 Marks
(c) Prepare XYZ plc's profit and loss account for the year ended 31 October 1999.

  5 Marks
(d) XYZ plc is now considering its production overhead budgets for the year 2000. The company has estimated the following production overhead costs and machine hours:

£000

Hours


Milling




  200

25 000



Turning



  190

22 000



Grinding



  220

18 000



Maintenance



    44




Stores




    54

The Maintenance and Stores departments are regarded as production service departments. It is expected that during 2000 the proportion of work performed for each department will be as follows:







Maintenance

Stores



Milling


       40%

   30%




Turning

       20%

   20%




Grinding

       25%

   40%




Maintenance

       n/a


   10%




Stores


       15%

   n/a

REQUIREMENT:

Calculate appropriate machine hour overhead absorption rates for the year 2000.










  9 Marks









Total Marks = 30
(CIMA Operational Cost Accounting, November 1999)
CHAPTER 8

8.1 The Direct Services Organisation (DSO) of a large local authority has been trading commercially for several years. Through the competitive tendering system now employed, it is seeking to obtain larger building contracts than have previously been undertaken. The Director of the DSO is concerned about the amount of profit that can be included in each year on uncompleted contracts. He has asked you, as the management accountant to the DSO, to prepare a report for him stating what factors need to be taken into consideration when determining the amount of profit which should be included at the end of a financial year on uncompleted contracts (the figure which could legitimately be included in the ordinary surplus).

In addition, he specifically asks what profit could be reported at the end of the second year in relation to a three-year contract of which two years have elapsed and fifty per cent of the estimated profit is expected to be earned in the final year of the contract.

For purposes of illustration, to make our explanation clear, use the undermentioned figures.









£ million

Estimated three-year contract price


   10.0


Estimated three-year contract total costs

     7.0


Estimated contract costs at end of second year

     6.0


Estimated value of completed work on the contract



At the end of the second year


     7.5

You are required to prepare the report requested by the Director of the Direct Services Organisation of the local authority.




(20 marks)
(CIMA Cost Accounting, May 1993)

8.2 You have just taken up the position as the first full-time accountant for a jobbing engineering company. Previously the accounting work had been undertaken by the company's auditors who had produced the following summarised profit and loss statement for the financial year which ended on 31 March this year:










     £

     £

     £
Sales








2 400 000

Direct material





1 000 000

Direct labour - Grinding Dept

200 000

Direct labour - Finishing Dept

260 000
   460 000

Production overhead - Grinding
175 000

Production overhead - Finishing
208 000
   383 000

Administration costs




   118 500

Selling costs





   192 000
2 153 500
Net profit







   246 500
The sales manager is currently negotiating a price for an enquiry for a job which has been allocated number 878 and he has been given the following information by his staff:


Preferred price to obtain a return of 16
[image: image3.wmf]3

2

% on selling price

£22 656


Lowest acceptable price





£18 880

These prices have been based on the following estimated costs for proposed Job 878:









   £
    £


Direct material






  9 000


Direct labour - Grinding Dept: 400 hours @ £5

2000


Direct labour - Finishing Dept: 300 hours @ £6

1800
  3 800









12 800


Add 47.5% to cover all other costs



  6 080

Total cost






18 880

The sales manager seeks your advice about the validity of the method he is using to quote for Job 878.

The company is currently busy with a fairly full order book but the Confederation of British Industry has forecast that a recession is imminent for the engineering industry.

You are required, as the accountant,

(a) to criticise the method adopted for estimating the costs which are used as the basis for quoting prices for jobs;





(  8 marks)
(b) to suggest a better method of estimating job costs and to calculate a revised job cost and price, based on the information available, to give to the sales manager;


(  8 marks)
(c) to suggest how you would propose to improve the accounting information to assist with controlling costs and providing information for pricing purposes.


(  9 marks)
(Total: 25 marks)
(CIMA Cost Accounting, November 1991)

CHAPTER 9

9.1 A chemical compound is made by raw material being processed through two processes. The output of Process A is passed to Process B where further material is added to the mix. The details of the process costs for the financial period number 10 were as shown below:

Process A

Direct material

2000 kilogrammes at £5 per kg


Direct labour

£7200


Process plant time
140 hours at £60 per hour

Process B
Direct material

1400 kilogrammes at £12 per kg


Direct labour

£4200


Process plant time
80 hours at £72.50 per hour

The departmental overhead for Period 10 was £6840 and is absorbed into the costs of each process on direct labour cost.





  

 Process A
  Process B

Expected output was


80% of input
90% of input


Actual output was


   1400 kgs
   2620 kgs

Assume no finished stock at the beginning of the period and no work-in-progress at either the beginning or the end of the period.

Normal loss is contaminated material which is sold as scrap for £0.50 per kg from Process A and £1.825 per kg from Process B, for both of which immediate payment is received.

You are required to prepare the accounts for Period 10, for

(i)
Process A,

(ii) Process B,

(iii) Normal loss/gain,

(iv) Abnormal loss/gain,

(v) Finished goods,

(vi) Profit and loss (extract).




(15 marks)
(CIMA Cost Accounting November 1992)

9.2 Masters plc produces a number of products, one of which is the K9000.

K9000 is manufactured in three separate processes with the output from process 1 becoming the input into process 2 and the output from process 2 becoming the input into process 3.

In an actual period 1000 kg of basic material X was input into process 1 at a cost of £5.00 per kg. 120 kg of material Y was added in process 3 at a cost of £13.40 per kg.

The normal losses are:


Process 1
6% of input


Process 2
5% of input


Process 3
8% of input

The scrap value of losses is:


Process 2
  £5 per kg


Process 3
£15 per kg


Process 1 losses have no scrap value.

The actual hours worked, direct expenses and outputs in the period were as follows:




Direct labour

Direct expenses
Outputs




      hours


£

      kg

Process 1
             160
            
          2180

     920

Process 2

        140

          1362

     880

Process 3

        180

          4612

     870

Overheads of £60 000 were budgeted for and incurred in the period for the whole of the factory. Direct labour hours for the other processes in the factory for the same period were 1920 hours.

Direct labour cost was £30 per hour.

There were no stocks of raw materials or work-in-progress at the start of the period. All processes were fully completed in the period.

Requirements

(a) Complete the three process accounts for the period.


 15
(b) Complete the abnormal gain and loss accounts and the scrap value receivable account for the same period.





   5
(20)

(CIPFA Management Accounting December 1996)

9.3 In process costing, if an abnormal loss arises, the process account is generally


A 
debited with the scrap value of the abnormal loss units.


B
debited with the full production cost of the abnormal loss units.


C
credited with the scrap value of the abnormal loss units.


D
credited with the full production cost of the abnormal loss units.


E
credited with the full production cost less the scrap value of the 

abnormal loss units.

(CIMA Operational Cost Accounting November 1996)

9.4 XYZ plc manufactures its product through a series of processes. The FIFO method of valuing opening work in process is used, and the following details relate to September 1995.

Opening work in process was 600 units, each 80% processed as to materials and 60% processed as to conversion costs.

Normal loss was 500 units, fully completed.

Finished output was 14 500 units; there were no abnormal losses or gains. Closing work in process was 800 units, each 70% processed as to materials and 40% processed as to conversion costs.

When calculating the costs per equivalent unit, the number of equivalent units to be used are:




Materials
Conversion

A

  14 580
   14 460


B

  14 940
   14 580


C

  15 180
   15 060


D

  15 540
   15 180


E

  16 040
   15 680

(CIMA Operational Cost Accounting November 1995)

9.5 One of the products of Acol Limited passes through two separate processes before its completion.

10 000 kg of material X are required for Process 1 and 7500 kg of material Y are needed for Process 2.

The purchase of these materials into stock prior to their processing was as follows:


Material X:



Purchase 1:
5000 kg at £1.18 per kg



Purchase 2:
2500 kg at £1.22 per kg



Purchase 3:
3800 kg at £1.21 per kg



Purchase 4:
1700 kg at £1.24 per kg


Material Y:



Purchase 1:
4200 kg at £2.32 per kg



Purchase 2:
5000 kg at £2.50 per kg

No opening stocks of materials are held.

Acol Limited adopt the FIFO method for pricing stock issues.

The expected loss of each process is 4% and 2% of input for Process 1 and 2 respectively. All Process 1 losses can be sold as scrap for £0.40 per kg and all Process 2 losses for £1.00 per kg.

500 direct labour hours were required for the first process, at an average hourly cost of £5.19 while Process 2 direct labour cost was £4281.

For Process 1 overheads were absorbed at the rate of 40% of the cost of material X and for Process 2 the overheads charged were 50% of the cost of material Y.

The output from Process 1 was 9450 kg and the output from Process 2 was 16750 kg.

Requirements

(a) Calculate the value of stock issues for material X and Y to the processes and the value of unissued stock.
 





   3
(b) Prepare cost accounts for each of the two processes.
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(c) Prepare the Normal Loss Account and the Abnormal Gain/Loss Accounts.

   6
(d) Explain each of the following terms used in process costing:

(i) Wastage.

(ii) Scrap.

(iii) Normal Loss.

(iv) Abnormal Loss.




   4
(25)

(CIPFA Management Accounting June 1998)

9.6 ABC Limited operates an integrated accounting system. It is a chemical processing company, which converts three raw materials – W, X and Y – into a final product Z which is used as a fertiliser in the farming industry.

On 30 September 1993 an extract of the trial balance taken from its ledgers was as follows:









   £

   £


Raw material control account



15 400


Work-in-progress control account


21 520


Production overhead control account




  2 360


Abnormal loss account




  1 685


Abnormal gain account






     930


Finished goods control account



27 130

The following notes are also relevant:

1. ABX Limited prepares its financial accounts to 31 October each year.

2. The raw material control account balance comprises:

   £


Direct materials:


Material X
4200 kg @ £2 per kg


  8 400


Material Y
1050 kg @ £4 per kg


  4 200


Indirect materials




  2 800








15 400

3. The work-in-progress control account comprises:

   £


Process 2
8400 kg
Process 1

  8 720






Materials

  2 000






    Labour

  3 600






  Overhead

  7 200








21 520
During October 1993, the following transactions occurred:

(i) Indirect materials purchased on credit amounted to £1300.

(ii) Direct materials were purchased on credit as follows:

Material W
10 500 kg costing
  £4 960

Material X
10 000 kg costing
£21 000

Material Y
  5 000 kg costing
£19 000

(iii) Direct wages were incurred as follows:

Process 1
£17 160

Process 2
  £8 600

(iv) Indirect wages were incurred amounting to £2 980.

(v) Production overhead costs incurred (excluding materials and labour costs) amounted to £31 765.

Indirect materials consumed in the month amounted to £1450.

(vi) Direct materials were issued to production as follows:

Process 1
10 500 kg of W costing
  £4 960



  7 200 kg of X costing

£14 700

Process 2
  4 050 kg of Y costing

£15 600


There was no opening or closing stock of material W.

(viii) The cost of finished goods sold during the month amounted to £125 740.

The completed output from the two processes for October 1993 amounted to


Process 1

13 100 kg


Process 2

20 545 kg

Closing work-in-progress, which is 100% complete as to materials but only 50% completed as to conversion cost, amounted to


Process 1

  2000 kg


Process 2

  1500 kg

Normal losses, caused by evaporation and occurring at the end of processing, are expected in each of the processes as follows:


Process 1

15% of throughput


Process 2

10% of throughput

NOTE: Throughput equals opening work-in-progress plus materials introduced 

  less closing work-in-progress.
Production overhead is absorbed using the following absorption rates:


Process 1

150% of direct labour cost


Process 2

200% of direct labour cost

REQUIREMENTS:

(a) Prepare the accounts for EACH of the TWO processes for the month of October 1993.







16 Marks
(b) Prepare the SIX ledger accounts for which opening balances have been given, commencing with those balances, entering the transactions for the month of October 1993 and making entries in those accounts for 31 October 1993 as appropriate.






  9 Marks
(c) State the differences between using an integrated accounting system compared to an interlocking system, and explain the advantages and disadvantages caused by those differences.






  5 Marks
    



    



Total Marks = 30

(CIMA Operational Cost Accounting Specimen Examination)
CHAPTER 10

10.1 XYZ plc, a paint manufacturer, operates a process costing system. The following details relate to process 2 for the month of October 1997:

Opening work-in-progress
5000 litres fully complete as to transfers from process 1 and 40% complete as to labour and overhead, valued at £60 000

Transfer from process 1
65 000 litres valued at cost of £578 500

Direct labour
£101 400

Variable overhead
£80 000

Fixed overhead
£40 000

Normal loss
5% of volume transferred from process 1, scrap value £2.00 per litre

Actual output
30 000 litres of Paint X (a joint product)


25 000 litres of Paint Y (a joint product)


  7 000 litres of by-product Z

Closing work-in-progress
6000 litres fully complete as to transfers from process 1 and 60% complete as to labour and overhead.

The final selling prices of products X, Y and Z are:


Paint X

£15.00 per litre


Paint Y

£18.00 per litre


Product Z 
£  4.00 per litre

There are no further processing costs associated with either Paint X or the by product, but Paint Y requires further processing at a cost of £1.50 per litre.

All three products incur packaging costs of £0.50 per litre before they can be sold.

REQUIREMENTS:

Prepare the process 2 account for the month of October 1997, apportioning the common costs between the joint products, based upon their values at the point of separation.







20 Marks

(a) Prepare the abnormal loss/gain account showing clearly the amount to be transferred to profit and loss account.



  4 Marks
(b) Describe one other method of apportioning the common costs between the joint products, AND explain why it is necessary to make such apportionments, and their usefulness when measuring product profitability.


  6 Marks









Total Marks = 30
(CIMA Operational Cost Accounting, November 1997)

10.2 A company has two divisions (A and B). In Division A small mechanical assemblies are manufactured in the two production departments to customer order. The following information is available for the two production departments for a period:







Machining
Welding







    Dept.
  Dept.


Budgeted production overhead
 £256 200
£168 100


Budgeted machine hours

     4200
     820


Budgeted direct labour hours
     8100
   15 500


Actual machine hours

     4384
        734


Actual direct labour hours
  
     8296
   15 109


Job No 1763 (order for 800 assemblies):


Materials issued


  £16 740
      £264


Machine hours


         293
          40


Direct labour hours

         440
        726

Labour hourly rates are £8 in the Machining Department and £10 in the Welding Department.

Division A operates an integrated absorption costing system, with predetermined overhead absorption rates calculated to two decimal places of £.

Actual production overhead in Division A in the period comprised:


Indirect materials


  £47 440


Indirect labour


£203 740


General expenses (on credit)
£172 838

Payments to general expense creditors in the period totalled £169 763.

Required:
(a) Calculate the total production cost of Job No 1763:

(i) if production overheads are absorbed on the basis of machine hours in the Machining Department and direct labour hours in the Welding Department.





(6 marks)

if production overheads are absorbed on a plant-wide direct labour hour basis.






(2 marks)

(b) Calculate the amount of under-absorbed production overhead for Division A and complete the Production Overhead Control Account for the Division. (Assume that overheads are absorbed on a plant wide direct labour hour basis.)











(5 marks)

(c) In Division B, two products (M and N) are manufactured from the same process, incurring joint processing costs of £428 750 in the period.

The following additional information is available for the period:








Product M
Product N

Output (kgs)



   45 060
   15 900


Further processing costs (per kg)

     £1.65
     £3.00


Selling price (per kg)


   £12.00
   £15.00

Required:
Calculate the gross profit/loss on Product M for the period:

(i) if joint processing costs are allocated on the basis of net realisable value.







(5 marks)

(ii) if joint processing costs are allocated on the basis of physical quantities.







(2 marks)









(20 marks)

(ACCA Management Information, December 1998)

CHAPTER 11

11.1 The Ludford Hotel and Conference Centre is used for conference bookings and private guest bookings. Conference bookings use some bedrooms each week, the balance being available for private guest bookings. Data have been collected relating to private guest bookings (i.e. non-conference bookings) which are summarised below for a 10-week period.

Week
Double rooms available for

Number of

Average stay


   private guest bookings

  guests

  
 (in nights)
    1

55



    198


      2.1

    2

60



    170


      2.6

    3

72



    462


      1.4

    4

80



    381


      3.2

    5

44



      83


      5.6

    6

62



    164


      3.4

    7

80



    348


      2.6

    8

54



    205


      1.7

    9

80



    442


      1.8

  10

24



      84


      3.2

Some of the costs for private guest bookings vary with the number of guests, regardless of the length of their stay, while others vary with the number of rooms available in any week.


Variable cost per guest



£17.50


Variable cost per week per room available
£56.00

The general fixed cost for private guest bookings per week is £8100. The hotel charges £30 per person per night for accommodation for private guest bookings.

REQUIREMENTS:

(a) Calculate the total cost per guest night for private guest bookings over the 10-week period.







9 Marks
(b) Calculate the occupancy percentage over the 10 weeks for the private guest bookings.







2 Marks
(c) Calculate the contribution and profit for private guest bookings for the 10-week period. (Author’s note: contribution is (sales revenue – variable cost).


4 Marks
Total Marks = 15
(CIMA Cost Accounting & Quantitative Methods, November 2000)

11.2 BC Limited, a coach operator, provides three different types of service:

Contract hire
- used by local schools and employers to transport pupils and employees

Day excursions
- sold to the general public

Holidays
- sold to the general public

BC Limited has two full-time Directors. It employs four full-time drivers at a salary of £24 000 per annum each, and one full-time administrator at a salary of £12 000 per annum. The administrator’s salary is apportioned on the basis of sales income. The company uses part-time drivers for its day excursions and to support its full-time drivers on other work.

During the four-week period of October 2000, BC Limited operated:


Contract hire services to local schools:
on 15 days


Contract hire services to local employers:
on 20 days


Day excursions:



seven
totalling 1400 miles


Holidays (5 days each)



two
totalling 1200 miles

A copy of its work schedule (excluding day excursions) for the month is as follows:

Work
Week 1
Week 2
Week 3
Week 4

Employer contract 1

Employer contract 2

Employer contract 3

Employer contract 4

Employer contract 5

Employer contract 6
Driver A

Driver B

Driver C

Driver D

Part-time driver

Part-time driver
Driver A

Driver B

Driver C

Driver D

Part-time driver

Part-time driver
Driver A

Part-time driver

Driver C

Part-time driver

Part-time driver

Part-time driver
Driver A

Driver B

Driver C

Driver D

Part-time driver

Part-time driver

School contract 1

School contract 2

School contract 3

School contract 4

School contract 5
Driver A

Driver B

Driver C

Driver D

Part-time driver
Driver A

Driver B

Driver C

Driver D

Part-time driver

Driver A

Driver B

Driver C

Driver D

Part-time driver

Holiday 1

Holiday 2


Driver B

Driver D


Each employer contract is of 30 miles per day.

Each school contract is of 16 miles per day.

Each week comprises 5 days.

Average journey speed is 20 miles per hour.

Full-time drivers work 20 days per month for 8 hours per day. When not driving the coaches, full-time drivers perform other duties such as cleaning vehicles and minor maintenance work, and they assist with the marketing and administration of the company. Their salary cost is apportioned on the basis of mileage.

Part-time drivers are paid £120 per day for a day excursion and £15 per hour for contract work.

Income earned by BC Limited during October 2000 was as follows:


£

Holidays                
 29 750

Day excursions
   9 000

Contracts - schools
   3 750


                 - employers


      6 000

In addition to the wages and salary costs detailed above, costs incurred during October 2000 were as follows:


    






£

Notes
Employer’s national insurance contributions in respect 

of drivers






  1 600

  (1)

Directors’ salaries and related employment costs

  5 000

  (3)

Fuel for vehicles





  2 800

  (2)

Vehicle leasing






10 000

  (2)

Vehicle minor maintenance and cleaning materials

     900

  (2)

Admission fees re day excursions



  1 040

  

Accommodation costs re holidays



10 700

Office costs






  1 310

  (3)

Vehicle licences and insurances




  1 600
  
  (2)

Notes:

(1) to be apportioned on the basis of full-time drivers’ salaries.

(2) to be apportioned on the basis of mileage.

(3) to be apportioned on the basis of sales values.

REQUIREMENTS:

(a) Prepare a profit statement for October 2000 showing clearly the income, costs, gross and net profit of each of the three types of service provided by BC Limited, and the total net profit for the month.



20 Marks
(b) Describe briefly the procedures which BC Limited should use to record the activities of its full-time drivers so that costs can be controlled.
  5 Marks
       Total Marks = 25

(CIMA Operational Cost Accounting, November 2000)

CHAPTER 12

12.1 (a) PQ Limited makes and sells a single product, X, and has budgeted the following figures for a one-year period:


Sales, in units






             160 000









     £

      £


Sales








6 400 000


Production costs:



Variable




2 560 000



Fixed





   800 000


Selling, distribution and administration costs:



Variable




1 280 000



Fixed





1 200 000

Total costs







5 840 000

Net profit







   560 000
Fixed costs are assumed to be incurred evenly throughout the year.

At the beginning of the year, there were no stocks of finished goods. In the first quarter of the year, 55 000 units were produced and 40 000 units were sold.

You are required to prepare profit statements for the first quarter, using

(i) marginal costing,

and

(ii)
absorption costing.





(  6 marks)

(b) There is a difference in the profit reported when marginal costing is used compared with when 

absorption costing is used.

You are required to discuss the above statement and to indicate how each of the following conditions would affect the net profit reported

(i) when sales and production are in balance at standard (or expected) volume,

(ii) when sales exceed production,

(iii) when production exceeds sales.

Use the figures from your answer to (a) above to support your discussion; you should also refer to SSAP 9.









(  9 marks)

(c) WF Limited makes and sells a range of plastic garden furniture. These items are sold in sets of 

one table with four chairs for £80 per set.

The variable costs per set are £20 for manufacturing and £10 for variable selling, distribution and administration.

Direct labour is treated as a fixed cost and the total fixed costs of manufacturing, including depreciation of the plastic-moulding machinery, are £800 000per annum. Budgeted profit for the forthcoming year is £400 000.

Increased competition has resulted in the management of WF Limited engaging market research consultants. The consultants have recommended three possible strategies, as follows:







Reduce selling

Expected increase







Price per set by

in sales (sets)







           %

             %



Strategy 1



5


10



Strategy 2



7.5


20



Strategy 3



10


25

You are required to assess the effect on profits of each of the three strategies, and to recommend which strategy, if any, ought to be adopted.





(10 marks)











 (Total: 25 marks)

(CIMA Cost Accounting, November 1994)

12.2 A manufacturer of glass bottles has been affected by competition from plastic bottles and is currently operating at between 65 and 70 per cent of maximum capacity.

The company at present reports profits on an absorption costing basis but with the high fixed costs associated with the glass container industry and a substantial difference between sales volumes and production in some months, the accountant has been criticised for reporting widely different profits from month to month. To counteract this criticism, he is proposing in future to report profits based on marginal costing and in his proposal to management lists the following reasons for wishing to change:

Marginal costing provides for the complete segregation of fixed costs, thus facilitating closer control of production costs.

1. It eliminates the distortion of interim profit statements which occur when there are seasonal fluctuations in sales volume although production is at a fairly constant level.

2. It results in cost information which is more helpful in determining the sales policy necessary to maximise profits.

From the accounting records, the following figures were extracted:

Standard cost per gross (A gross is 144 bottles and is the cost unit used within the business):









    £


Direct materials




  8.00


Direct labour





  7.20


Variable production overhead



  3.36

Total variable production cost



18.56


Fixed production overhead



  7.52*

Total production standard cost



26.08
*The fixed production overhead rate was based on the following computations:

Total annual fixed production overhead was budgeted at £7 584 000 or £632 000 per month.

Production volume was set at 1 008 000 gross bottles or 70 per cent of maximum capacity.

There is a slight difference in budgeted fixed overhead at different levels of operating:




Activity level


Amount per month



Per cent of maximum capacity

         £000




     50 – 75


           632




     76 – 90


           648




     91 – 100


           656

You may assume that actual fixed production overhead incurred was as budgeted.

Additional information:







September

October

Gross sold




    87 000

 101 000


Gross produced



  115 000

   78 000


Sales price, per gross



         £32

        £32


Fixed selling costs



 £120 000

 £120 000


Fixed administrative costs


   £80 000

   £80 000


There were no finished goods in stock at 1 September.

You are required

(a) to prepare monthly profit statements for September and October using

(i) absorption costing; and

(ii) marginal costing;






(16 marks)
(b) to comment briefly on the accountant’s three reasons which he listed to support his proposal.

(  9 marks)











 (Total: 25 marks)

(CIMA Cost Accounting, November 1990)

12.3 CC Ceramics Ltd has provided the following information about production/sales of one of its tiles for the last two quarters:








Quarter II
Quarter III

Sales (square metres)



   41 000
   53 000


Production (square metres)


   44 000
   47 000


Opening stock (square metres)


     6 000
     9 000


Closing stock (square metres)


     9 000
     3 000


Selling price per square metre


       £18
      £18


Total production costs incurred


£320 000
£335 000


Selling overhead:
variable per square metre     £  1
      £  1





fixed for quarter
£  70 000
£  70 000


Fixed administration overhead for quarter
£110 000
£110 000

Notes
1. Total production cost is semi-variable, the fixed element being production overhead.

2. Fixed production overhead is absorbed at the rate of £3 per square metre.

REQUIREMENTS:

(a) For each of Quarters II and III, prepare profit statements using:


1. absorption costing; and


2. marginal costing.

(b) For each quarter, present a reconciliation of the marginal and absorption costing net profit reported in (a).

(c) CC Ltd’s volume of output and sales is subject to some fluctuation and uncertainty from one year to another and the company generally prepares several budgets based on different volume levels. Why would marginal costing be preferable to absorption costing in this context?

12.4 Management of SL & Co, which manufactures beds and related accessories, is dissatisfied with the profits earned by its “Posturite” Orthopaedic Mattress. The following estimated data relate to next year’s production/sale of this product:


Production/sales (units)





12 000










£million


Sales revenue






  £1.26 


Variable cost of sales





  £0.60


Specific fixed costs





  £0.30


Apportionment of general fixed costs



  £0.25

Net profit






  £0.11
In an attempt to improve the situation, various members of the management team have suggested four mutually exclusive options, details of which are given below.

Option 1
Increase the unit selling price by 20%; this could be achieved if a promotional campaign costing £75 000 were mounted and if product quality were slightly improved, thereby increasing unit variable cost by £10. Production/sales volume would remain at its originally estimated level of 12 000 units.

Option 2
Maintain the unit selling price at its originally estimated amount, but markedly improve product design; this would increase unit variable cost by 25% and specific fixed costs by £40 000. Production/sales volume under this option would increase to 18 000 units.

Option 3
Introduce, in addition to the existing “Posturite” mattress, a cheaper version which would be sold as a substitute. Estimated unit sales of this new product are 1000 at a price of £70; variable cost per unit would be £30 and specific fixed costs of £10 000 would be incurred. It is reckoned that sales of 300 units of the original “Posturite” mattress would be lost as a result of the introduction of this cheaper alternative.

Option 4
Improve the quality of customer service offered; this would increase the specific fixed costs by £200 000, but would also increase sales volume by 1000 units.

Management is aware that, for every “Posturite” mattress sold, £20 of additional contribution from sale of other company products is earned; this extra contribution would not, however, be earned on sale of the cheaper substitute, should that be introduced.

REQUIREMENTS:

(a) Using marginal costing principles, determine which (if any) of the four options offers the biggest improvement in estimated profit next year.

(b) Indicate any factors not included in your analysis in (a) which may be relevant to the final decision.

CHAPTER 13

13.1 RS & Co, a firm of management consultants, provides the following budgeted information in respect of next year:


Sales revenue




£2 000 000


Labour 


£730 000


Overhead


£910 000
£1 640 000

Profit




£   360 000
Notes:
1. £658 000 of the labour costs are fixed, the balance variable.

Overhead is 20% fixed, 80% variable.

REQUIREMENTS:

From the information given, determine:

(a) RS & Co’s breakeven point;

(b) the firm’s margin of safety as a percentage of budgeted sales revenue;

(c) sales revenue required in order to earn a target profit of £90,000;

(d) breakeven point assuming total variable cost rises by 25% above the budgeted amount (all other factors remaining the same).

13.2 Total Surveys Limited conducts market research surveys for a variety of clients. Extracts from its records are as follows:

1995 1996


Total costs
                      £6 million
       £6.615 million

Activity in 1996 was 20% greater than in 1995 and there was general cost inflation of 5%. Activity in 1997 is expected to be 25% greater than in 1996 and general cost inflation is expected to be 4%.

REQUIREMENTS:

(a) Derive the expected variable and fixed costs for 1997.

 6 Marks

(b) Calculate the target sales required for 1997 if Total Surveys Limited wishes to achieve a contribution to sales ratio of 80%.




  3 Marks

(c) Discuss briefly the problems in analysing costs into fixed and variable elements.









  6 Marks







           Total Marks = 15

(CIMA Cost Accounting & Quantitative Methods, May 1997)

13.3 A company has the following summary results for two trading periods:






Period 1
Period 2






 (£000)

 (£000)

Sales



  742.7

  794.1


Variable costs



  408.3

  409.0


Contribution



  334.4

  385.1


Fixed costs



  297.8

  312.7

Net profit



    36.6

    72.4
Required:

(a) Draw a profit volume chart, based on both periods, covering sales up to £1m per period.








(  6 marks)

(b) Calculate (to the nearest £000) the sales required in Period 2 to achieve the same net profit as Period 1.







(  3 marks)

(d) Define the following terms (which are used in the context of CVP analysis):

(i) C/S ratio

(ii) Margin of safety. 




(  3 marks)

(ACCA Management Information, June 1998)
13.4 The directors of a heating appliance company are creating a marketing plan for their domestic heating section which produces fan heaters of 1Kw, 2Kw and 3Kw output. They need to know the breakeven point and contribution of each product type as an input into the decision to target marketing expenditure.




Product




  Type


    £

Direct material

 1 Kw


55 000




 2 Kw


77 000




 3 Kw


68 000

Direct wages

 1 Kw


38 000




 2 Kw


62 000




 3 Kw


50 000

Factory overhead

 1 Kw


18 200




 2 Kw


22 400




 3 Kw


25 400

Selling & distribution
 
 1 Kw


13 800

overhead


 2 Kw


18 700




 3 Kw


25 000

Sales


 1 Kw


9000 units at £16.50 each




 2 Kw


12 000 units at £21.00 each




 3 Kw


6000 units at £28.00 each

Selling & distribution overhead is 20% fixed and 80% variable; factory overhead is 50% fixed and 50% variable.

The marketing plan which relates to additional units only can (i) cut the price of each product type by 3% and spend £14 000 in total promoting all products resulting in an increase in sales of each product type of 15% or (ii) spend £14 000 promoting the product type which currently gives the greatest contribution to fixed costs. The second option would result in an increase in sales of the product of 25% and would be accompanied by a reduction in price of 4%.

REQUIREMENTS

(a) Prepare a marginal costing statement which illustrates the contribution made to fixed costs by each product type and identifies total contribution.









(  9 marks)

(b) Calculate the unit breakeven point for each product type. 

(  3 marks)

(c) Quantify the net benefit of each marketing plan.


(  5 marks)








 (Total: 17 marks)

(CIOBS Business Accounting, December 1998)

13.5 (a) You are required, using the accountants’ conventional breakeven chart as a “model”, to explain how and why a breakeven chart drawn by an economist would differ. Illustrative diagrams should be provided.






(10 marks)

(b) PM Limited owns the Premier Hotel which is on a busy main road near an international airport. The hotel has 40 rooms which are let at a rental of £35 per day. Variable costs are £6 per room occupied per day.

Fixed costs per month are:








   £


Depreciation





9000


Insurance





5500


Maintenance





4800


Services





2700


Management





3000

Business is not as good in the period October to March as it is in the period April to September. The figures below relate to the two six-monthly periods for 1993/94:






   April to
October to






September
   March






(183 days)
(182 days)






       £

       £


Potential room lettings

  256 200
  254 800


Budgeted room lettings

  218 400
  165 200

You are required

(i) to calculate the budgeted room occupancy ratio to the nearest percentage figure for each six-month period;






(  2 marks)

(ii) to prepare a statement showing budgeted profit or loss for each of the two six-monthly periods;







(  5 marks)

(iii) to state the number of room days per month which must be let on average each month to break even;







(  2 marks)

(iv) to state with reason(s) whether or not you believe the hotel should be closed during January and February because in these two particularly poor trading months the fixed costs are not covered by the receipts from letting the rooms;


(  3 marks)

(v) to state briefly how you would investigate the costs for insurance and maintenance; the Manager of the hotel believes these two costs are too high and should be capable of being reduced.







(  3 marks)








 (Total: 25 marks)

(CIMA Cost Accounting, May 1993)

13.6 A retailer, with a chain of stores, is reviewing business performance across three major market segments. 


Sales (per period):



Market A
  £96.5m
(at an average price of £2.718/unit)



Market B
£198.2m
(at an average price of £1.810/unit)



Market C
£166.7m
(at an average price of £3.823/unit)


Gross profit margin (gross profit – sales less bought-in product cost):



Market A
42.7%



Market B
45.3%



Market C
47.4%


Variable operating costs:



£0.29/unit + 10.8% of sales value


Fixed costs (per period):

£81.4m, including £49.0m for the cost of occupying floor space in stores which is allocated:



Market A
£14.6m



Market B
£16.7m



Market C
£17.7m

The remainder of the fixed costs are allocated to markets on the basis of sales value.

Required:

(a) Calculate the profitability of each market segment, net of a full allocation of costs (all calculations should be to one decimal place of £m).


(  6 marks)

(b) Comment upon the market performance.



(  5 marks)

(c) Calculate the break-even sales value for a period based on the existing market mix.










(  3 marks)

(d) Discuss the factors which should influence the allocation of costs to each market.










(  6 marks)










(20 marks)

(ACCA Management Information, December 1998)

13.7 The following budgeted profit statement has been prepared using 

absorption costing principles:




January to June 1997
July to December 1997



£000

£000
£000

    £000

Sales




  540


      360

Opening stock
  100


  160

Production costs:

  Direct materials
  108


    36

  Direct labour
  162


    54

  Overhead
    90


    30
460 280

Closing stock
  160

  
    80
300 200

GROSS PROFIT



  240


      160

Production overhead:

  (Over)/Under absorption
 (12)


    12

Selling costs
  50


    50

Distribution costs
  45


    40

Administration costs
  80


    80
163 182

NET PROFIT/(LOSS)



    77


       (22)

Sales units


15 000


10 000

Production units


18 000


  6 000

The members of the management team are concerned by the significant change in profitability between the two six-month periods. As management accountant, you have analysed the data upon which the above budget statement has been produced, with the following results:

1. The production overhead cost comprises both a fixed and a variable element, the latter appears to be dependent on the number of units produced. The fixed element of the cost is expected to be incurred at a constant rate throughout the year.

2. The selling costs are fixed.

3. The distribution cost comprises both fixed and variable elements, the latter appears to be dependent on the number of units sold. The fixed element of the cost is expected to be incurred at a constant rate throughout the year.

4. The administration costs are fixed.

REQUIREMENTS:

(a) Present the above budgeted profit statement in marginal costing format.








10 Marks

(b) Reconcile EACH of the six-monthly profit/loss values reported respectively under marginal and absorption costing.




  4 Marks
(c) Reconcile the six-monthly profit for January to June 1997 from the absorption costing statement with the six-monthly loss for July to December 1997 from the absorption costing statement.






  4 Marks

(d) Calculate the annual number of units required to break even.
  3 Marks

(e) Explain briefly the advantages of using marginal costing as the basis of providing managers with information for decision making.


  4 Marks







           Total Marks = 25

(CIMA Operational Cost Accounting, May 1996)

13.8 Exe plc makes and sells four products. The profit and loss statement for April 1998 is as follows:

Product
   W
   X
   Y
   Z
Total



   £
   £
   £
   £
   £

Sales
30 000
20 000
35 000
15 000
100 000

Cost of sales
16 000
  8 000
22 000
10 000
  56 000

Gross profit
14 000
12 000
13 000
  5 000
  44 000

Overhead cost:

  Selling
  8 000
  7 000
  8 500
  6 500
  30 000

  Admin
  2 000
  2 000
  2 000
  2 000
    8 000

Net profit
  4 000
  3 000
  2 500
 (3 500)    6 000

The management team is concerned about the results, particularly those of product Z, and it has been suggested that Exe plc would be better off if it ceased production of product Z. The production manager has said that if product Z were discontinued the resources which would become available could be used to increase production of product Y by 40%.

You have analysed the cost structures of each of the products and discovered the following:


Cost of sales



     W
   X
    Y
     Z
 Total




     £
   £
    £
     £
    £


Variable costs
  4 800
1 600
13 200
  5 000
24 600


Fixed costs
11 200
6 400
  8 800
  5 000
31 400



16 000
8 000
22 000
10 000
56 000
The total fixed costs figure includes £20 000 which is not specific to any one 

product, and which has been apportioned to each product on the basis of sales 

values. If the quantity of any product increases by more than 25%, then the 

specific production fixed costs of the product will increase by 30%.

The selling overhead comprises a fixed cost of £5 000 per product plus a 

variable cost which varies in proportion to sales value. The fixed cost is not 

specific to any product but the sales director believes that it should be shared 

equally by the four products.

The administration cost is a central overhead cost; it is not affected by the 

products made.

REQUIREMENTS:

(a) Prepare a statement which shows clearly the results of continuing to 

produce products W, X, Y and Z at the same volumes as were achieved in April 1998. Present your statement in a format suitable for management decision-making









  6 Marks

(b) (i) Prepare a statement showing clearly the results if product Z is discontinued, and the number of units of Y is increased in accordance with the production manager’s statement. Assume that no change in selling price per unit is necessary to sell the additional units.








  4 Marks

     (ii) Reconcile the profit calculated in (a) and (b)(i) above; advise the management team as to whether product Z should be discontinued.
 
 
  2 Marks

(c) Explain briefly any non-financial factors which should be considered before discontinuing a product.






  3 Marks

(d) Prepare a contribution breakeven chart for product Y only, showing clearly the sales value at which the product recovers fully its specific fixed costs, but provides a nil contribution towards non-specific overhead costs:

(i) if Exe plc continues to produce product Z;

(ii) if Exe plc discontinues product Z and increases production of product Y in accordance with the production director’s statement.

From the chart, determine the effect on the breakeven point and margin of safety which occur because of the change in the use of resources. State these values clearly in sales values of product Y.






10 Marks







          Total Marks = 25

(CIMA Operational Cost Accounting, May 1998)

CHAPTER 14

14.1 You obtain the following information in respect of the costs of your three products Hallets, Trews and Nuckers.






Hallets

Trews

 Nuckers

Selling price per unit (£)

    38

   31

      42

Direct labour per unit (£)

    16

   12

        8

Direct material per unit (£)

      6

     5

      16

Variable production overhead 


per unit (£)


      4

     2

        8

Fixed general overhead per unit (£)
      6

     6

      12
Total cost per unit (£)


    32

   25

      44
Profit/(loss) per unit (£)

      6

     6

      (2)

Number of units sold


  20 000
  50 000 
   50 000

Profit/(loss) (£)



120 000
300 000
(100 000)

In view of the report showing a loss for Nuckers, the mix of production is to be reconsidered. 

The number of direct labour hours available, using existing labour, is limited to the existing number. The direct labour cost is £4 per hour.

Prices are to remain unchanged whatever decision is made on the product mix.

Requirements:

(a) Advise which product(s) should be produced and the change in profit expected in the short term, assuming demand is unlimited, given the ability to switch production between product lines.






  8
(b) Recalculate your answer to part (a) assuming that the number of units sold of any one product cannot be increased by more than 50%.


  6
(c) Following on from part (b), recalculate your answer if up to 100,000 additional labour hours can be bought in from an agency, but at a cost of £7.20 per labour hour.








  6
(d) Comment briefly on the possible implications of pursuing the production levels calculated in (c).







  5










(25)

(CIPFA Management Accounting, December 1997)

14.2 You have received a request from EXE plc to provide a quotation for the manufacture of a specialised piece of equipment. This would be a one-off order, in excess of normal budgeted production. The following cost estimate has already been prepared:






 Note

    £
Direct materials:


Steel 
10m2 @ £5.00 per m2



  (1)

    50


Brass fittings





  (2)

    20

Direct labour:


Skilled:
25 hours @ £8.00 per hour


  (3)

  200


Semi-skilled
10 hours @ £5.00 per hour
              (4)

    50

Overhead

35 hours @ £10.00 per hour
              (5)

  350

Estimating time




      
              (6)

  100










  770

Administration overhead @ 20% of production cost
             (7)

  154










  924

Profit @ 25% of total cost



             (8)

  231
Selling price








1155


Notes:

The steel is regularly used, and has a current stock value of £5.00 per square metre. There are currently 100m2 in stock. The steel is readily available at a price of £5.50 per square metre.

(1) The brass fittings would have to be bought specifically for this job: a supplier has quoted the price of £20 for the fittings required.
(2) The skilled labour is currently employed by your company and is paid at a rate of £8.00 per hour. If this job were undertaken, it would be necessary either to work 25 hours overtime which would be paid at time plus one half OR reduce production of another product which earns a contribution of £13.00 per hour.
(3) The semi-skilled labour currently has sufficient paid idle time to be able to complete this work.
(4) The overhead absorption rate includes power costs which are directly related to machine usage. If this job were undertaken, it is estimated that the machine time required would be ten hours. The machines incur power costs of £0.75 per hour. There are no other overhead costs which can be specifically identified with this job.
(5) The cost of the estimating time is that attributed to the four hours taken by the engineers to analyse the drawings and determine the cost estimate given above.
(6) It is company policy to add 20% on to the production cost as an allowance against administration costs associated with the jobs accepted.
(7) This is the standard profit added by your company as part of its pricing policy.
REQUIREMENTS:

Prepare, on a relevant cost basis, the lowest cost estimate that could be used as the basis for a quotation. Explain briefly your reasons for using EACH of the values in your estimate.






12 Marks

(a) There may be a possibility of repeat orders from EXE plc which would occupy part of normal production capacity. What factors need to be considered before quoting for this order?






  7 Marks
(b) When an organisation identifies that it has a single production resource which is in short supply, but is used by more than one product, the optimum production plan is determined by ranking the products according to their contribution per unit of the scarce resource. Using a numerical example of your own, reconcile this approach with the opportunity cost approach used in (a) above.












  6 Marks







          Total Marks = 25

(CIMA Operational Cost Accounting, November 1997)

14.3 The following details relate to products made by K Limited:






      L
                  M
                  N






      £

      £

      £


Selling price per unit

     60

     85
 
     88

Direct materials per unit
     15

     20

     30


Direct labour per unit

     10

     15

     10


Variable overhead per unit
       5

       8

     10


Fixed overhead per unit
  
     10

     16

     20






     40

     59

     70

Profit per unit


     20

     26

     18

All three products use the same direct labour and direct materials, but in different quantities. In a period when the material used on these products is in short supply, the most and least profitable use of the materials is:





Most profitable

Least profitable


A



N


L


B



N


M


C



L


M


D



M


L


E



M


N

(CIMA Operational Cost Accounting, November 1996)
14.4 Carbon Limited manufactures garden barbecue sets that are sold in the UK. The sales manager has been invited to submit a tender for an order of 2000 barbecue sets for a supermarket in Greece. These would be manufactured during Carbon’s slack period and would not affect normal production. However to gain this order the price would have to be low.

The standard cost schedule and other information is set out below.



Standard cost schedule for one barbecue set









   £
Materials – 1 component A





  4.50


       1 component B





  3.20


       1 component C





  2.50


       packaging






  1.00









11.20
Direct labour – 2 hours @ £5 per hour




10.00

Supervisor’s labour at 10% of direct labour



  1.00

Overheads – depreciation





  2.00


         other general fixed costs




  3.80
Total cost







28.00

Profit margin at 20% on cost





  5.60
Price per set







33.60
Notes on materials

(a) Component a is no longer used by Carbon and there are currently at least 2000 components in stock, for which there will be no other use. 

(b) Component B is in general use and its price is expected to remain unchanged in the coming year.

Component C, which is widely used by Carbon Limited elsewhere, will be replaced shortly by a new component but the large stocks remaining at that date can be converted to the new component at a cost of £1 per unit. The new component itself will cost £3 per unit.

The usual packaging will not be required for this order, but special bulk packaging to Greece will cost £5000; transport costs to Greece are expected to be £6000. Direct labour used for this order would normally be engaged in maintenance during the slack period at normal rates of pay. To complete the necessary maintenance, if the order were accepted, overtime costing £7000 will have to be paid. Depreciation is a factor of time rather than use. Additional overheads caused directly by this order will be £1500.

Required:

(a) Describe what is meant by the terms “relevant cost” and “opportunity cost”.









( 3 marks)

(b) Calculate the minimum tender price for the order of 2,000 barbecue sets that Carbon Limited could tender and make no loss on the order.
(13 marks)
(c) Suggest with reasons the price that you would bid. Discuss any factors, other than price, that should be considered before accepting the order.

(  9 marks)









(25 marks)

(ACCA Paper D2, Management Accounting, June 1998)

CHAPTER 15

15.1 A client is seeking a bank loan to finance the purchase of an additional machine and seeks your advice on the feasibility of the project. The following cash flows are projected.

(a) Machine
Initial cost £77 276

Proceeds of disposal in year 5 £18 000

(b) Operatives Wages
£17 000 per annum for the first three years followed by £19,000 in years four and five.

(c) Power
£2600 per annum in years one to five.

(d) Machine Maintenance
£800 per annum for years one to five.

£2800 overhaul in year three.

(e) Projected Revenue
Year
1
£26 400

2 £37 100

3 £42 000

4 £49 000

5 £37 800

The business has a cost of capital of 10% and requires a payback period of three years.

Calculate the following capital investment appraisal measures and state whether the project should be accepted.

(a) Internal rate of return on the project.


(15 marks)

(b) Payback period.





(  3 marks)








  (Total 18 marks)

(CIOBS, Business Accounting, May 1996)

15.2 A local college wishes to purchase its own minibus, as it is felt that this will be cheaper than hiring vehicles as and when required. The following information is available:


Purchase cost





£22 000


Estimated life





4 years


Annual saving in vehicle hire costs:
Year 1

£  6 000







Year 2

£10 000







Year 3

£15 000







Year 4

£15 000


Estimated resale value at end of Year 4


£  2 000
Purchase of the minibus will, however, incur annual running costs 
amounting to £3000 in each of Years 1 and 2, rising to £3800 in Year 3 and 
to £4400 in Year 4.

The college’s cost of capital is 8%.

REQUIREMENTS
(a) What is the net present value of the cash flows associated with purchase of a new minibus?

(b) Provide an approximation of the proposal’s internal rate of return.

(d) Advise the college on the financial viability of purchasing its own minibus.

(d) The college’s Principal advocates use of internal rate of return to evaluate capital investment proposals; the Finance Officer disagrees, claiming that net present value is superior.

Draft a brief report to the Principal explaining which criterion is preferable and why.

15.3 A firm of dry cleaners is assessing the acquisition of new cleaning equipment, details of which are given below.


Estimated useful life



6 years


Initial cost




£260 000


Net cash inflows:
Year 1


£  40 000





Year 2


£  50 000





Year 3


£  70 000





Year 4


£  90 000





Year 5


£  60 000





Year 6


£  10 000


Estimated resale value at the end of Year 6
£  20 000


Annual depreciation



£  40 000

In addition to the net cash inflows listed above, purchase of the new equipment will allow sale of existing equipment: this will occur at the end of Year 1, the cash proceeds being £2000.

The dry cleaning firm has a 15% cost of capital and a maximum acceptable payback period of five years.

REQUIREMENTS
(a) Determine the new equipment’s payback, net present value and internal rate of return.

(b) Convert the proposal’s annual net cash inflows to profit and determine the accounting rate of return. (Include the sale proceeds of the existing equipment in your Year 1 calculation).

(c) Based on your calculations in (a) and (b), advise the firm as to its best course of action on financial grounds, explaining the reasoning behind your advice.

(d) Explain why it could be argued that the calculation of payback and accounting rate of return is based on an invalid assumption about the value of associated monetary amounts.

15.4 PTK Ltd is a manufacturer of power tools and has decided to renew outdated production machinery at one of its plants; this plant cost £200 000 eight years ago and has no current scrap value but will cost £10 000 to remove, payable now.

Two mutually exclusive replacement options are possible:







Option A
Option B

Initial cost:
payable immediately
£400 000
£640 000


Estimated life



  6 years
  6 years


Net cash inflows:
Year 1

£180 000
£  50 000





Year 2

£140 000
£  50 000





Year 3

£120 000
£150 000





Year 4

£  80 000
£200 000





Year 5

£  80 000
£320 000





Year 6

£  40 000
£430 000

The company’s cost of capital is 12%.

REQUIREMENTS

(a) For each option, calculate its



1. net present value; and



2. payback period.

(b) Explain why the two criteria calculated in (a) give different indications about the financial desirability of the two options and advise PTK Ltd as to its best course of action.

15.5 A local authority’s Fire Service is considering replacement of a turntable ladder which, although still serviceable, has steeply rising maintenance costs, and it is thought that a replacement will prove less expensive in the long term. The purchase cost of a new turntable ladder will be £360 000 - half payable immediately and half one year from now. The following information is available:





Existing 
Replacement
Estimated useful life


8 years

    8 years

Estimated maintenance costs:


Year 1



£40 000
£10 000


Year 2



£45 000
£10 000


Year 3



£50 000
£14 000


Year 4



£60 000
£15 000


Year 5



£72 000
£18 000


Year 6



£80 000
£18 000


Year 7



£90 000
£20 000


Year 8



£98 000
£22 000

Full overhauls:


Year 2



£  5 000


Year 4



£10 000
£  4 000


Year 6



£14 000


Estimated resale value:


Now



£10 000


Year 8



£  1 000
£  8 000

The local authority applies a cost of capital of 6% in evaluating capital investment proposals.

REQUIREMENTS

(a) Calculate the net present value of the differential cash flows attaching to purchase of the new turntable ladder and on that basis, advise the local authority as to the best course of action.

(b) State three qualitative factors which may be relevant to the final decision, providing a brief explanation of the significance of each.

15.6 A large supermarket presently operates a subsidised canteen for the benefit of its staff, but, due to its continual failure to break even, management is considering subcontracting canteen provision to an external caterer. The subsidised canteen’s annual operating statement for the year just ended is as follows:


Income







£20 000


less
Cost of food purchases


£19 200



Power for equipment


£  3 000



Depreciation of equipment

£  8 800



Apportionment of general overheads
£12 000
£43 000

Net loss






£23 000
Projections for the next four years indicate that the above figures will increase as follows:


Income




£2000 per year


Food and power costs


£  800 per year each

Apportionments of general overhead
£1500 per year


Depreciation of equipment

no change

If canteen provision is subcontracted, two full-time members of the supermarket’s staff will be made redundant at a cost of £12 000, payable immediately. 

An outside caterer has offered to provide canteen facilities within the supermarket for the next four years. The caterer would receive all the income from operation of the canteen, would meet all the related operating costs and would pay the supermarket £6000 per annum rent for use of  the existing canteen facilities within the supermarket’s premises (which have no foreseeable alternative use).

The supermarket’s cost of capital is 12%.

REQUIREMENTS
(a) Assess the financial desirability of the proposal to subcontract canteen provision, using net present value as the criterion.

(b) What areas of non-financial concern should be brought to management’s attention before a final decision is reached?

15.7 In a bid to increase its market share, BFG Ltd, a retail supplier of domestic appliances, is assessing the desirability of opening a prestigious new showroom in a locale where the company has not previously operated. The following information is available:


Appraisal criteria
The appropriate cost of capital for this proposal is 22% and the maximum acceptable payback period is four years. Although the proposed new showroom has a useful life which is estimated to be in excess of 20 years, BFG Ltd has placed a maximum time horizon of 10 years on the appraisal, as the directors believe that estimates relating to periods beyond this limit will be too uncertain for meaningful incorporation into the evaluation.

Initial cost of premises and annual depreciation
The new showroom will cost £1 300 000 to purchase; 50% of this is payable immediately, with the balance being payable in five equal instalments at the end of each of Years 1 - 5 inclusive. Following the company’s normal accounting procedures, depreciation on the showroom will be provided at an annual rate of 2% of  its purchase cost.

Estimated financial results
If the new showroom is acquired, estimated summary profit statements are as follows:

Years


1 - 3

4 & 5

6 & 7

8 - 10


£000

£000

£000

£000

Sales


600

1000

1250

1400

less Operating costs
480

  725

  914

1010

Depreciation

  26

    26

    26

    26
Profit


  94

  249

  310

  364
REQUIREMENTS

(a) In respect of the proposal to open the new showroom, calculate the following:


1. accounting rate of return based on initial capital cost;


2. payback;

2. net present value; and


4. internal rate of return.

(b) Critically compare the use of discounting and non-discounting techniques in appraisal of capital investment projects.

(c) Advise BFG Ltd as to its best course of action on financial grounds.

15.8 KG (Construction) plc is considering tendering for a major road construction project; the main portion of the work will last five years, but, due to the nature of the job, certain associated costs and revenues will arise after this period. Details of the project are given below.

Tender price and progress payments
Company management believes that a tender of £38 million is likely to prove successful in obtaining the work. The client - a consortium of local authorities and central government - will make progress payments of £7 million at the end of each of Years 1 - 5 inclusive, the balance being paid at the end of Year 6.

Capital costs
If the project is undertaken, KG plc will need to purchase £5m of new plant and equipment, £3.6m to be paid for immediately and the balance after one year.
Materials’ costs
Estimated materials’ costs each year are:


Year 1:
£2.4 million
Year 2:
£2.9 million


Year 3:
£4.2 million
Year 4:
£2.7 million




Year 5:
£1.8 million

Of the estimated materials’ requirement in Year 1, £0.6 million is already owned by KG plc, having been purchased some time ago for another job 

which was not completed. If not used on the road project under consideration, these materials could be used on another job, thereby saving the company purchases of £0.9 million. All other materials for the road project will need to be specially purchased.
Labour requirements
A total direct labour cost of £1 million is anticipated in Year 1, rising by £0.2 million in each of Years 2 - 5 inclusive. Of these labour costs, 10% relates to “core” workers who are permanently employed by KG Ltd and, if not used on this road project, would be carrying out minor rectification work on other completed jobs. Use of the core workers on the road project will necessitate subcontracting the rectification work at a cost of £50 000 per annum to KG Ltd in each of Years 1 - 5. Labour requirements other than the core workers will be met by short-term or casual employment as required.

Apportionment of general company costs

If the tender is successful, the road project will be receive an apportionment of £2 million per year to cover Head Office and general administrative costs.

Sundry costs
These include plant hire, engineers’ and surveyors’ fees, fixed costs specifically attributable to the road project, depreciation and rectification work, and are estimated at the following amounts:


Year 1:
£3 million
Year 2:
£2 million


Year 3:
£2.5 million
Year 4:
£1.3 million


Year 5:
£1.1 million
Year 6:
£0.8 million


Year 7:
£0.7 million
Year 8:
£0.2 million

The sums quoted above for each of Years 1 - 5 include £0.4 million for depreciation.

KG plc’s cost of capital is 18% and the company uses net present value to assess capital investment proposals.

REQUIREMENT
Draft a report to the directors of KG plc advising on the financial desirability of submitting the tender. Include supporting calculations, state any assumptions made and indicate any qualitative factors which you feel may be relevant to the directors’ assessment of the situation.

15.9 The Education Department of Holmforth City Council operates six careers offices at various locations across the city. These offices are widely dispersed geographically and are controlled from Education Department offices in the centre of town. At present, the system of providing information to schools and individuals is as follows:

Careers Officers from the appropriate local office make twice-yearly visits to each Secondary School within the council’s authority, each visit consisting of a presentation to senior pupils followed by individual interviews. On average, each of these visits requires the equivalent of three full days of a Careers Officer’s time. Further interviews at the careers office are arranged at the request of pupils wishing additional information. 

Careers offices must also deal with ad hoc enquiries from school-leavers, their parents and prospective employers. When relevant information is not available at the specific office handling the enquiry, a telephone request is made to Careers Service central office which will then either supply the requisite information itself or will phone round the other local offices to obtain it. All requests for information made to external organisations must be handled by central office.

At the last meeting of the council’s Education Committee, councillors were concerned about the antiquated approach being taken by the Careers Service. In particular, worry was expressed about frequent delays in providing information which was quite often out-of-date, an increasing volume of complaints about the quality of service being provided and the increasingly widely-held view that the careers service was “a farce”. Against this background, the Director of Education commissioned a report from external consultants (at a cost of £10 000) about options for improving the situation, and the related financial implications. This report has now been received and a summary of its key points is given in Exhibit 15.1.

Holmforth Education Department: Careers Service

Three viable options for improving the quality of response have been identified; each involves computer networking and, regardless of which option (if any) is implemented, it is proposed that it be run in parallel with the present system. The options and the results of their appraisal are as follows:

                                                                                        Option 1       Option 2       Option 3
     Initial cost of hardware & software                           £120 000      £100 000      £150 000

     Theoretical life                                                             10 years        8 years         15 years

     Estimated operational life                                              5 years        5 years           5 years

     Net present value (initial cost against annual cost

           savings over estimated operational life)                  £16 000     £20 000       £24 000

     Internal rate of return over estimated operational life       12%             16%              10%

     Recommended period of parallel running                      1 year       6 months      3 months

     Staffing implications over 5 years                                   + 2            neutral           - 3

     Staff training required: in-house?                                   Yes             Yes               Yes

                                         external?                                       No               No               Yes

     Internet site?                                                                    Yes              No               Yes

     Post-implementation review after                                  1 year        6 months      3 months

All discounting calculations have been based on Holmforth City Council’s required rate of return of 6%.

Exhibit 15.1: appraisal of careers service options

Having read the consultants’ report, the Director of Education is uncertain about which option - if any - she should recommend to the next meeting of the Education Committee, and has asked you, as Assistant Director, for your advice.

REQUIREMENT:

Prepare a report for the Director of Education which discusses what you consider to be the main financial and non-financial issues arising from the situation.

15.10 HGF plc manufactures a range of plastic containers, all of which require pretty much the same production processes and basic raw materials. Concerned about the escalating cost of rejects within its main factory and about mounting customer complaints, management wishes to re-organise processes and procedures with the principles of total quality management (TQM) in mind. For financial evaluation of this kind of decision, company policy is to apply a six-year time horizon, with an appropriate cost of capital being 18%.

The following projections apply if re-organisation does not occur:






Value now
  Annual increase








Over 6-year period

Sales revenue


£280 million

2%


Customer returns

£    3 million

6%


Inspection costs

£    5 million

5%


Material purchase costs

£  24 million

3%


Depreciation of equipment
£  10 million

 -


Rework and reject costs
£    6 million

8%


Stockholding costs

£    4 million

4%

If the re-organisation proceeds, management believes that the following will occur:

1. Sales revenue: an increase of 2% per annum on current value in each of years 1 and 2, followed by 3% per annum in each of years 3-6.

Customer returns: reduction of 70% on current value at the end of year 1, followed by further reductions of £100,000 in each of years 2-6.

2. Inspection costs: these will rise by £3 million compared to the current amount at the end of year 1, thereafter increasing by 1% per annum until the end of year 6.

3. Material purchase costs: because a just-in-time purchasing system will be used, discounts for bulk purchasing will be lost; compared to £24 million plus 3% per year projected above, an additional £500 000 per annum will be incurred in each of years 1-6.

4. Equipment: obsolete equipment will be sold immediately for £1.2 million; replacement equipment costing £20.0 million will be acquired, being paid for in five equal instalments at the end of each of years 1-5.

5. Rework and reject costs will be reduced by £3 million at the end of Year 1, and by a further £400 000 in each of years 2-6.

6. Stockholding costs will be reduced by £600 000 in each of years 1-6.

7. Re-organisation will require extensive re-training of staff at a cost of £2 million in each of years 1, 2 and 3.

8. Re-organisation will allow a saving of £200 000 per annum to be made in production overhead in each of years 2-6.

REQUIREMENT

Present a financial evaluation of the proposed re-organisation, and state and additional factors which management should consider before reaching a decision.

15.11 DCG plc operates a large number of retail electrical stores across the country. Each proposal to open a new store or close an existing store is appraised using internal rate of return. Acceptable proposals, once implemented, are subjected to  rigorous post-audit by staff from the company’s Finance Department.

Two recent decisions have prompted management dissatisfaction with the procedures outlined above.

1. Closure of the Ganford store: financial appraisal suggested retention, and this was management’s decision. Escalating costs, coupled with declining sales over the intervening ten months have forced management to reverse this decision.

2. Wrongly-timed opening of the Fulton store: appraisal suggested that such a store be opened, and this was duly done; however, in the interval between the decision being taken and the store being opened, a competitor had opened a similar store in the town, depressing profitability to such an extent that DCG plc’s store may now need to close.

REQUIREMENT

In light of the two decisions described, assess the strengths and weaknesses of DCG plc’s capital investment procedures, suggesting areas where change might be beneficial.

CHAPTER 16

16.1 LGP Ltd manufactures and sells three sizes of extending ladder - 3 metre, 5 metre and 10 metre. Information relating to each of these is given below:

Standard data per unit





3 metre

5 metre

10 metre
Selling price



£30.00

£58.00

  £95.00
Raw materials:
aluminium -



3.5/6/12 metres @ £2
£  7.00

£12.00

  £24.00



fixings - 100/200/400



@ £0.01

£  1.00

£  2.00

  £  4.00

Direct labour: 0.1/0.5/1.0 hours @ £8
£  0.80

£  4.00

  £  8.00

Machine costs: 4/6/10 hours @ £1
£  4.00

£  6.00

  £10.00
Anticipated sales volume in current


year (units)


20 000

15 000

  10 000

Anticipated stock levels at end of 


current year

Finished goods (units)

  4 000

  2 000

       800

Raw materials:
aluminium


16 000 metres




fixings



60 000 units

At the end of next year, management wishes stocks of both finished goods and raw materials to be 25% lower than their anticipated levels at the end of the current year. It is expected that sales volumes next year will be 20% higher than the current year 

for 3 metre ladders, the same for 5 metre ladders and 10% lower than the current year for 10 metre ladders.

Each of LGP Ltd’s direct workers has a 35-hour working week for 48 weeks of the year; however, of these total hours, only 75% will be productive, the remainder being lost due to sickness, machine breakdown and a variety of other reasons. The company currently has 30 machines which are used to shape and fix the ladders, each being capable of producing any length of ladder. To allow for maintenance and set-up time, each machine has an effective operational year of 8000 machine hours; LGP Ltd’s capital budget stipulates that two additional such machines will be in place as from the first day of next year.


REQUIREMENTS:

(a) Prepare the following functional budgets for LGP Ltd for next year:

1.
sales in units and revenue for each product and showing total budgeted sales revenue;


2.
production in units for each product;


3.
material usage in metres and units for aluminium and fixings 



respectively;

4.
material purchases in metres and units for aluminium and fixings along with the purchase cost for each type of material and in total;

5.
direct labour hours for budgeted output of each product and in total, 


plus the number of direct workers required for overall production.

(b) Identify the assumed principal budget factor underlying the budgets prepared in (a).

(c) Based on the production budget in (a), prepare a statement of budgeted machine utilisation for next year and demonstrate the extent to which next year’s machine capacity will/will not be sufficient to deal with next year’s budgeted output. In the event that next year’s machine capacity proves insufficient to meet projected output, suggest ways in which LGP Ltd might overcome the shortfall, explaining any associated advantages and disadvantages.

16.2 You are the assistant management accountant of ZED plc. Preliminary discussions concerning the company budgets for the year ended 30 June 1999 have already taken place, and the sales and production directors have produced the following forecasts:

Sales Director

“I forecast that the total sales for the year will be 24 000 units of product a if we continue to sell them at £10.00 per unit for the first six months of the year and increase the price to £11.00 per unit thereafter. I estimate the quarterly sales to be:


July – September

7200 units


October – December

3000 units


January – March

4800 units


April – June


9000 units

This represents a 20% increase over our present quarterly sales targets, and I expect that within each quarter the monthly demand will be equal. We can also sell up to 2000 units of product B per month at a selling price of £8.00 per unit. This is a less profitable product, so we should concentrate on A.”

Production Director

“Our maximum capacity is at present limited by the available machine hours. Each unit of product A requires 2 machine hours, and on this basis, we can usually produce 2000 units per month. However, because of employee holidays in August, the number of machine operators is reduced, and in that month we can produce only 1000 units. We have placed an order for new semi-automatic machines which are being installed in August 1998. These should be capable of producing a further 2000 units per month starting on 1 September 1998.

Product B requires 4 machine hours per unit. The quantity that we can produce is limited because of the demands on the available machine time by making product A.”

You have predicted the costs per unit of the two products for the 1999 budget year as follows:








     A

    B








£/unit

£/unit


Direct materials


 1.50

 1.60



Direct labour



 2.50

 3.00



Variable overheads


 1.50

 3.00







 5.50

 7.60
REQUIREMENTS:

(a) Use the information above to calculate the extent of the limiting factor during the budget period.








   5 Marks
(b) Prepare monthly sales and production budgets, expressed in units, for the period JULY TO DECEMBER 1998, based upon the limiting factor you determined in (a) above. Assume that stocks of products A and B cannot be held, and that ZED plc wishes to concentrate on production of product A.






  8 Marks
(c) Prepare monthly sales and production budgets, expressed in units, for the period JULY TO DECEMBER 1998, based upon the limiting factor you determined in (a) above. Assume that stocks of products A and B can now be held, and assume that ZED plc decided to sell equal quantities of product A and product B each month.


10 Marks
(d) Determine the effect on profits of the change in sales mix proposed in part (c) above.

  









2 Marks









           Total Marks = 25

(CIMA Operational Cost Accounting, November 1997)

16.3 Outline the main objectives of a budget system and discuss the extent to which these may or may not be achievable in an environment characterised by global competition, total quality management and advanced manufacturing technology.

16.4 There is a continuing demand for three sub-assemblies – A, B and C – made and sold by MW Limited. Sales are in the ratios of A 1, B 2, C 4 and selling prices are A £215, B £250, C £300. Each sub-assembly consists of a copper frame onto which are fixed the same components but in differing quantities as follows:






Component
Component
Component

Sub-assembly

Frame

       D

       E

       F

         A


    1

       5

       1

       4

         B


    1

       1

       7

       5

         C


    1

       3

       5

       1

Buying in costs, per unit £20

     £8

     £5

     £3

Operation times by labour for each sub-assembly are:


Sub-assembly


Skilled hours

Unskilled hours


         A



          2


            2


         B



          1½

            2


         C



          1½

       
3

The skilled labour is paid £6 per hour and the unskilled £4.50 per hour. The skilled labour is located in a machining department and the unskilled labour in an assembly

 department. A five-day week of 37½ hours is worked and each accounting period is for four weeks.

Variable overhead per sub-assembly is A £5, B £4 and C £3.50.

At the end of the current year, stocks are expected to be as shown below but because interest rates have increased and the company utilises a bank overdraft for working capital purposes, it is planned to effect a 10% reduction in all finished sub-assemblies and bought-in stocks during Period 1 of the forthcoming year.

Forecast stocks at current year end:



Sub-assembly


Copper frames

  1 000



A
  300


Component D

  4 000



B            700


Component E

10 000



C          1600


Component F

  4 000

Work-in-progress stocks are to be ignored.

Overhead for the forthcoming year is budgeted to be Production £728 000, Selling and distribution £364 000 and Administration £338 000. These costs, all fixed, are expected to be incurred evenly throughout the year and are treated as period costs.

Within Period 1 it is planned to sell one thirteenth of the annual requirements which are to be the sales necessary to achieve the company profit target of £6.5 million before tax.

You are required

(a) To prepare budgets in respect of Period 1 of the forthcoming year for

(i) sales, in quantities and value;

(ii) production, in quantities only;

(iii) materials usage, in quantities;

(iv) materials purchases, in quantities and value;

(v) manpower budget, i.e. numbers of people needed in each of the machining department and the assembly department;


(20 marks)
(b) to discuss the factors to be considered if the bought-in stocks were to be reduced to one week’s requirements – this has been proposed by the purchasing officer but resisted by the production director.






( 5 marks)
(Total: 25 marks)

(CIMA Cost Accounting November 1990)

CHAPTER 17

17.1 ABC Sports Ltd is a manufacturing company which produces two versions of a training shoe, the “Lynford” and the “Jackson”. The following information is a copy of their annual accounts to 31 October 1996:









 £000

 £000

Sales
Lynford




 9600



Jackson




 3200

12 800


Cost of Sales
Lynford



 2700




Jackson



 1000

  3 700










  9 100


Less overheads:
Marketing and sales

 4580





Interest on loans

   500





Distribution costs

   550





Administration costs

 1500

7 130

Profit before tax






1 970

The finance department, in conjunction with the marketing and sales departments, expect the following to happen over the coming year to 31 October 1997.

(i) The sales volume will increase by 10% for the Lynford and 8% for the Jackson.

(ii) Selling prices will increase by £5 for the Lynford, to £85, and £7 for the Jackson, to £47.

(iii) Overhead expenses are expected to change as follows:

· Marketing and sales are expected to increase by £500,000 due to a new advertising campaign.

· Due to a rise in interest rates, interest payable will increase by £150 000

· Distribution costs are expected to rise by 7%.

Administration cost will rise by 5.25%.

(iv) Cost of sales will remain at the same percentage of sales value, for each version, as in 1995/96.

Requirement

(a) Prepare the budget for the year to 31 October 1997.


 12

(b) Comment on your budget projection and any assumptions implicit in your calculated figures.







   8
(20)

(CIPFA Management Accounting, December 1996)

17.2 The Alexandra Nursery, which provides facilities to pre-school children on a commercial basis, is preparing its cash budget for next year. A profile of the estimated revenues and expenses for the first four months of the year is given below.







 January  February   March        April
Revenue: 
fees due for payment
£58 000  £60 000   £66 000    £59 000

Costs:

wages & salaries
£11 000  £11 000   £12 000    £12 000



purchase of equipment  
  £28 000   £22 000



payment of taxation
£  8 000



purchases of 




consumables
£  2 000  £  2 500   £  2 200    £  1 400



rent & rates

£  3 000

           £  3 000



sundry overheads
£  7 000  £  8 000   £  8 000    £  8 000



telephone

£  1 200

           £  1,400



insurance


   £  2 800



building renovations
£12 000  £16 000   £20 000    £25 000

The following additional information is available:

1. At the end of the current year, it is estimated that the nursery’s bank account will be overdrawn by £4000.

2. In addition to receipts from fees, the nursery will receive a loan of £5000 from one of its owners in April and sale of unwanted toys and equipment will raise £500 in February.

At the end of the current year, it is anticipated that £48 000 in unpaid fees will be outstanding: 40% of this will be received in January, 40% in February, and 18% in March, with the balance being bad debts. The pattern of fee receipts next year is expected to be: 20% received in the month due, 50% received in the month after they are due, 28% received two months after they are due with the balance being bad debts.

3. The nursery’s creditors at the end of this year are estimated at £12 000, all of which amount will be paid during January next year.

4. Purchases of consumables and of equipment will be paid for in the month following purchase; building renovations will be paid for 70% in the month due, 30% in the month following.

5. With the exception of 5. above, all costs will be paid in the month incurred; sundry overheads includes £1000 per month depreciation.

REQUIREMENTS:

(a) Prepare the Alexandra Nursery’s cash budget for each of the first four months of next year.

(b) In response to the cash flow position revealed by the budget in (a), one of the nursery’s owners has proposed that fees should be increased by 10% effective from 1 January next year.

1. Assuming that all other factors remain as stated, calculate the effect on the nursery’s cash balances in each month of the proposed fee increase.

2. Assess the likely effectiveness of the owner’s proposal and suggest other means by which the budgeted cash flow position may be improved.

(a) Explain in general terms how a computer spreadsheet could be used in the preparation of cash budgets and what benefits this could offer.

17.3 The Home Help Section of Boroughmere Council’s  Social Work Department has been requested to submit a profiled budget proposal for next year. As a starting-point, the Senior Administration Officer (Home Help) refers to the current year’s cost budget for the section, which is set out below.

Boroughmere Council Social Work Department

Home Help Section Cost Budget 19X7/X8










£000

Employee costs:
wages & salaries



   614




wage-related costs



   128




employee benefits



     10

Transportation:
vehicle running costs



 
     86




vehicle depreciation



     27




vehicle maintenance



     34

IT costs:

depreciation of equipment


       8




running & maintenance costs


     12




consumables




     15

Other costs:

sundry administration



     50




property-related



     30




insurances




       6
Gross expenditure






1,020    

Expenditure recovered through grants and from other sources (5%)
     51
Net expenditure






   969

Inflation for next year is expected to increase this year’s costs as follows: employee costs - 2%, transportation - 5%, IT - 6%, other 10%. Depreciation charges are unaffected by inflation.

In light of experience during the current year and expectations about next year’s operations, the Senior Administration Officer believes that the Home Help Section’s minimum expenditure next year in order to meet statutory and other obligations must be 80% of the current year’s budget (after adjusting for inflation); provision of the same level of service next year as this year would require the same budgeted expenditure (after adjustment for inflation); proposed improvement and expansion of the service over this year’s levels would require next year’s budget to be 120% of this year’s (after adjusting for inflation). For all levels of service, 6% of total expenditure will be recoverable next year.

Expenditure by quarter next year is estimated to be: Quarter I - 35%, Quarter II - 30%, Quarter III - 20%, Quarter IV - 15% and you may assume that these percentages apply to every individual cost and to the 6% recovery factor.

REQUIREMENTS:

(a) Adjust the current year’s budget for inflation and apply the revised recovery percentage to determine next year’s budget based on each of the following scenarios:


1.
next year’s level of service being the same as this year’s;


2.
next year’s level of service being the minimum possible; and


3.
next year’s service being at the improved and expanded level.

Your budgets should follow the format of that presented in the question.

(b) For (a)1 only, profile the annual budget by quarter, again using the format from the question.

(c) Explain how elements of both incremental and zero-base budgeting can be seen in the Home Help Section’s budgeting exercise.

17.4 Sampson Ltd operates a chain of retail clothing stores throughout the country, each individual store being treated as a separate budget centre. Estimates relating to operation of the company’s Kingsmere Superstore for the first six months of next year are given below.





Jan
Feb
Mar
Apr
May
Jun
Sales revenue (£000)

600
400
350
320
300
260

Costs:
wages & salaries
  70
  68
  65
  62
  60
  60


rent & rates




120


insurance



  50


overheads

130
130
130
130
130
130

The following additional information is available:

Purchases The average cost of purchases is 60% of sales revenue; purchases in any month are sufficient to cover that month’s sales, and to provide closing stock equivalent to 20% of the following month’s sales. Purchases are paid for 80% in the month following purchase and 20% two months after purchase.

1. Sales 70% of sales are made on a cash basis, the remainder being on credit. Of the credit customers, 50% are expected to pay in the month following sale, 45% two months after sale, with the balance being bad debts.

2. Wages & salaries These are paid in full on the fifth day of the month following that in which they are incurred.

3. Other costs Rent & rates, insurance and overheads are paid in the month in which they are incurred; of the monthly overhead, £15 000 is for depreciation.

REQUIREMENTS:

(a) Prepare the Kingsmere Superstore’s purchases budget (in £s) for each of the months of March, April and May.

(b) Individual stores operated by Sampson Ltd do not have separate bank accounts, but a cash budget is prepared for each store showing cash inflows and outflows, along with the net inflow/outflow.

Prepare such a cash budget for the Kingsmere Superstore for each of the months of March, April and May.

(c) Prepare the Superstore’s budgeted profit statement for each of March, April and May; explain why the budgeted profit/loss and budgeted net cash inflow/outflow are different.

17.5 The following balance sheet relates to Crane Manufacturing plc as at 31 March 1997:

 £000

 £000

   £000




Gross
       Accumulated
Net Book


        Depreciation
   Value

Fixed Assets

Land





  130



     130

Premises




  400

  (80)

     320

Equipment




  160

  (60)

     100






  690

 (140)

     550

Current Assets

Stock





  325

Debtors (sales-related)



  720

 1045
Current Liabilities
Creditors (purchases-related)


 (325)

Accruals (production expenses)

   (50)

Bank





 (133)

  (508)

     537
Capital employed







   1087

Long-term liabilities


Loan









    (100)

Capital employed







     987
Financed by
Share capital






   800

Reserves






   187

    987

The following transactions are expected to take place in the three months immediately following the balance sheet date.



Credit
Cash

Credit

Cash

Cash
Production



Sales
Sales
          Purchases     Purchases

Wages
  Expenses



£000
£000

 £000

£000

  £000
     £000

April

  800
    50

   400

  100

    150
       100

May

  900
  100

   463

  100

    150
       100

June

1,000
  150

   500

  100

    150
       100

Total

2,700
  300

1,363

  300

    450
       300

Additional information

(i) Terms for credit sales are a 20% deposit with the balance being paid in equal instalments over the next two months. Debtors in the balance sheet relate to February and March sales which were £600 000 in each month.

(ii) Credit purchases are paid for one month in arrears.

(iii) 40% of production expenses are paid in the month of production. The balance is payable in the following month.

(iv) Additional to the above, monthly depreciation of £2000 is charged to the profit and loss account.

New equipment costing £50000 is to be purchased and paid for in April. This will cause depreciation to increase by £400 per month. The equipment will be funded from reserves rather than by an extra loan.

(v) Loan payments not included in expenses are £3000 per month of which £2500 is principal repayment and £500 is interest.

(vi) Additional administration overheads of £15 000 per month are paid.

(vii) Selling and distribution overhead is 2% of sales payable in the month of sale.

(viii) The company’s current bank overdraft limit is £140 000. An increase in this limit cannot be negotiated.

Requirement

(a) Prepare a monthly cash budget for the three months ended 30 June 1997 using the information given above.







  15
(b) Advise the company as to whether its cash budget is feasible, detailing further any particular doubts you might have concerning the realism of the forecasts.

   6
(c) Suggest four possible measures which the company could employ to improve its cash flow position.








 
  4
(25)

(CIPFA Management Accounting, June 1997)
17.6 The information given below relates to the operations of the Commercial Division of ES Insurance Group for the six months ending 31 December 19X3:







  Jul
  Aug
  Sep
  Oct
  Nov
  Dec







£000
£000
£000
£000
£000
£000
Premium receipts



  360
  390
  405
  377
  384
  296

Sales salaries




    60
    40
    55
    50
    60
    40

Other wages and salaries


    80
    84
    86
    86
    88
    90

Value of confirmed new policies

  600
  440
  300
  465
  510
  230

Value of policy renewals


  400
  540
  214
  320
  280
  144

Sundry operating costs



  120
  140
  160
  140
  170
  110

Capital expenditure



   nil
  240
   nil
  110
   nil
   nil

Notes
1. Of the premium receipts, it is estimated that 60% will be received in the month due, 30% in the month after, and 7% two months after; the balance being bad debts. On 30 June 19X3, debtors in respect of premiums will amount to £68 000, of which 70% will be received in July, 27% in August, with the remainder being irrecoverable.

2. Sales salaries are all paid in the month incurred, while other wages and salaries are paid 85% in the month incurred, 15% in the month following.

3. Sales commission: 15% on the value of confirmed new policies, paid two months after confirmation; 5% on the value of policy renewals, paid one month after renewal.

Overheads: these are semi-variable, the variable element varying with the number of man-hours’ work performed. Actual data for the six months to 30 April 19X3:

  Nov
  Dec
  Jan
  Feb
  Mar
  Apr

Total overhead cost (£000)

   120
   119
   116
   114
   130
   122


Man-hours’ work


 5000
 4200
  4900
 3600
 6800
 6100

      Overheads are paid 50% in the month incurred and 50% in the month following. Of the  

      fixed overhead per month, £8000 is for depreciation.

5. Estimated man-hours’ work each month for the period under review:

  Jul
  Aug
  Sep
  Oct
  Nov
  Dec

4600
4800
5000
5000
5200
5400

6. Sundry operating costs are paid 40% in the month incurred and 60% in the month following.

7. Capital costs are for purchase of a new computer and will be paid in the month following that incurred.

8. Creditors at 30 June 19X3 will be £70 000, of which 75% will be paid in July and the balance in August.

9. The commercial division does not operate a bank account separate to that of the Group.

Requirements

(a) Prepare the Commercial Division’s cash budget for each of the months July – December 19X3, showing for each month cash inflows, cash outflows and the net cash inflow/outflow.
(b) Suggest steps which management of the Commercial Division might take to improve the cash flows revealed by your answer to (a).

CHAPTER 18

18.1 ACI Ltd is a credit reference agency and the standard and budgeted costs of providing the service next year are provided below.


Variable costs per credit enquiry

Computing



£0.75


Direct expenses


£0.30


Semi-variable cost

Direct labour



£0.15 per enquiry + £300 000 fixed for 








            the year
Fixed costs

General administration


£220 000


Computing



£130 000


Building occupancy


£  40 000


Promotional



£100 000

It is anticipated that somewhere between 50 000 and 75 000 credit enquiries will be handled next year.

REQUIREMENTS:

(a) Prepare flexible cost budgets for ACI Ltd for each of the following volumes of business:

50 000 enquiries




65 000 enquiries




75 000
enquiries.

(Your flexible budgets should clearly distinguish between variable and fixed costs and should show the total cost of each level of activity).

(b) From the data in the question, provide one example of each of the following:



engineered cost, committed cost, discretionary cost.

(c) Briefly discuss possible difficulties which may be faced by ACI Ltd in the operation of a flexible budgeting system.

18.2 The following information relates to production and sale of snare drums by CMC Ltd (Musical Instruments) Ltd:


Standard per drum
selling price


£170





variable costs:
direct material
£  30







direct labour
£  15







selling

£    5


Budget per annum
sales/production volume (units) 

    15 000





fixed costs:
production overhead

£450 000







administration overhead
£288 000







selling overhead

£180 000
Actuals for March 19X5
sales revenue


£201 600 






sales/production

1120 units






direct materials


£  35 840






direct labour


£  20 160






variable selling costs

£    6 300






production overhead

£  34 000






administration overhead
£  25 000






selling overhead

£    9 000

For budget control purposes, CMC Ltd divides the annual budget period into 12 calendar months; you may assume that budgeted sales and fixed costs are expected to arise evenly during the year and that each calendar month is of equal length.

REQUIREMENTS:

(a) Prepare CMC Ltd’s budgeted and actual profit statements for March 19X5 using marginal costing principles and showing fixed budget, flexible budget and actuals, with volume and flexible budget variances identified.

(b) Provide a brief commentary on the company’s financial performance during March as revealed by your answer to (a).

(c) Explain how a difference between the rate of inflation incorporated into the budget and that which actually occurred would distort the budget/actual comparison and suggest how such a distortion might be overcome.

18.3 Cornton Town Council operates a system of responsibility accounting, within which the office of the town’s Registrar of Births, Marriages & Deaths is treated as a responsibility centre. The following budgeted, standard and actual information is available:


Budgeted for 19X2


total number of registrations


    13 000


total registration fees



£182 000


fixed costs for year: 
administration


£  26 000




occupancy


£  65 000




apportionment of Council HQ costs
£  52 000


direct labour


£  58 500


total variable costs for year: 
stationery


£  11 700




other


£    3 900
Actuals for Period 4 19X2

total number of registrations



      1 650


total registration fees




£  23 040


administration costs




£    2 400


occupancy costs




£    5 100


apportionment of Council HQ costs


£    4 800


direct labour




£    5 200


stationery costs




£    1 700


other variable costs




£    1 080

It is the Council’s current policy to compare responsibility centres’ actuals for each four-week control period to one-thirteenth of their annual budget.

REQUIREMENTS:

(a) Prepare a control report for Period 4 19X2 , comparing one-thirteenth of the Registrar’s Office budget for the year with the actuals for the period and identifying all variances for income, costs and operating surplus/deficit.

(b) Evaluate the approach taken in (a) and suggest an improved methodology, explaining your reasoning.

(c) As far as the information permits, assess the extent to which the various financial items in the control report in (a) might be controllable by the Registrar’s Office.

18.4 As part of its fund-raising effort and to provide employment for some of its beneficiaries, a national charity operates a factory which produces and sells small items of furniture. The following information relates to the quarter just ended.

Budgeted and standard
Budgeted sales revenue:
£400 000 per month

Variable costs:
20% of revenue up to and including sales of £400 000



15% of revenue if sales exceed £400 000

Fixed/step costs:
direct labour - £80 000 up to and including sales of £450 000

(per month)

           £90 000 up to and including sales of £500 000



production overheads - £20 000 up to and including sales of 






£375 000





      £24 000 if sales fall between £375 000 and 






£425 000





      £30 000 if sales exceed £425 000



general overheads - £26 000 fixed for all foreseeable sales volumes.

Actuals


Month 1
Month 2
Month 3



  £000
  £000
  £000


Revenue

    320
    390
    460


Variable costs

      80
      90
      92

Contribution

    240
    300
    368


Fixed costs: direct labour
      78
      78
      94


                    production overheads
      40
      60
    100


                    general overheads
      25
      25
      40

Profit

      97
    137
    134

REQUIREMENTS:

(a) For each of Months 1-3, prepare a budget control report showing the flexible budget and actual profit statement, with variances identified.

(b) As far as the information permits, comment on the factory’s financial performance during the quarter and explain how the results in (a) could be used by management in a feedforward control exercise.

18.5 BH plc is a large conglomerate business operating in a variety of different markets. As head of the company’s Technical Support Section, you have received the following memorandum from the newly-appointed Financial Controller.

MEMORANDUM

To:
Head of Section, Technical Support

From:
Financial Controller

BUDGET OVERSPEND FOR 6 MONTHS TO 30 SEPTEMBER 19X1
As you are aware, this company operates a system where section heads are responsible for meeting their section’s budget. Given below is a budget/actual comparison for your section’s operations, covering the six months just ended.





Budget
Actual    Variance
Standard hours’ work performed
  10 000
 12 250
   
     

Staff costs:
section head

£ 25 000
£ 27 250   £ 2 250A



technical

£ 75 000
£ 81 750   £ 6 750A



clerical

£ 22 000
£ 33 980   £11 980A



overtime

     nil
£   8 700   £  8 700A

Computing costs:
purchase of hardware
£ 10 000
£ 13 600   £  3 600A




charge for use of Head




Office mainframe
£   4 000
£   6 100   £  2 100A




purchase of software
£   9 000
£   7 450   £  1 550F

Other costs:
stationery etc

£   3 000
£   5 400   £  2 400A



travel & subsistence
£   5 000
£ 18 700   £13 700A



sundries

£   2 000
£   1 000   £  1 000F



apportionment of Head Office



running costs

£   6 000
£   7 700   £  1 700A





£161 000
£211 630  £50 630A
I am sure you will agree that the picture these figures paint is far from rosy and would appreciate your response as soon as possible.

Financial Controller
The following additional information is available.

The apportionment of Head Office costs is made to sections on an arbitrary basis.

1. The budgeted figures for purchase of hardware was based on an anticipated inflation rate of 1%; in the event, actual inflation turned out to be 5%.

2. Budgeted staff costs do not take account of  a pay rise of 9% awarded to the section head and of 4% to all other staff in August and backdated to the start of the six month period. The budgeted cost of clerical staff excludes payment to additional temporary workers who completed 1000 standard hours worth of work in 1250 actual hours, the standard cost of which is £6 per hour. Because of the higher-than-expected workload, 500 standard hours of work had to be performed in overtime, although this actually required 870 hours’ work, which were paid for at the standard overtime rate of £10 per hour.

3. The charge for use of the Head Office mainframe is made on the basis of the time logged-on by each section; for the Technical Support Section, the standard hours logged-on is reckoned to be 80% of the total standard hours of work performed; for each standard hour logged-on, sections are charged £0.50.

4. Of the actual travel and subsistence costs, some 70% arose because of an emergency request for assistance from one of BH plc’s overseas branches.

5. Subject to Head of Section’s approval, software, stationery and sundries’ costs are incurred on a discretionary basis by section staff.

REQUIREMENT:

As Head of the Technical Support Section, prepare a draft response to the Financial Controller; as part of your response, re-draft the budget control report in a manner which provides a more representative picture of actual financial performance.

18.6 Prayton Farm Park has been operating as a commercial concern for roughly six years. Mr and Mrs Stillworth, the Park’s owners, have just negotiated an increased overdraft facility with their bank; one of the conditions attaching to this increase is that a suitable system of financial control be instituted, and you have been requested to provide advice as to how this might be achieved. Details of the Park’s operations are as follows.

The Farm Park offers the following facilities to visitors:


- access to animal pens, barns and enclosures


- adventure playground (outdoor)


- play barn (indoor)


- golf driving range


- Farm shop


- Farmhouse Cafeteria

Tickets covering admission to the Farm Park’s animal, adventure playground and play barn areas are available from the Farm Shop; use of the golf driving range requires purchase of a separate ticket - either instead of, or in addition to, the basic admission ticket.

The Farm Park has a workforce of 16 in addition to Mr and Mrs Stillworth; two of these employees are permanently assigned to the Farm Shop and two to the Farmhouse Cafeteria, with the others undertaking work on all the remaining operational areas as required. Mrs Stillworth supervises the Farm shop and Farmhouse Cafeteria, Mr Stillworth dealing with the other facilities.

Although the Farm Park is open from February to October, business is highly seasonal, with the highest number of visitors in June, July and August; September is fairly busy, but there are few visitors in February, March and October. Mrs Stillworth is in charge of the Farm Park’s financial records, which consist of a computerised cash book, where receipts and payments are entered as they arise. The cash book is usually updated on an ad hoc basis as pressure of other work permits; entries in the cash book are periodically reconciled with the Farm Park’s monthly bank statements - but there is often a two or three month delay before this reconciliation occurs, and the records are only brought fully up-to-date after the end of each accounting year for the purpose of  completing the Stillworths’ income tax return.

REQUIREMENT:

Prepare a report for Mr and Mrs Stillworth, explaining how a system of financial control might be implemented at Prayton Farm Park, explaining the advantages and possible drawbacks of such a system.

18.7 The Wheatdale Group has recently completed a major corporate restructuring, which involved disposal of all “non-core” business activities, “core” activities being defined as provision of financial services. Nevertheless, Stock Exchange concerns about profit projections continue, partly fuelled by a series of adverse press reports describing labour relations problems stemming from the restructuring. Faced with this situation, Wheatdale Group’s Board is proposing to embark on a cost reduction programme.

Some relevant details about the Group’s “core” business (i.e. after restructuring) are given below.

Insurance: the Group offers a wide range of personal, commercial, property, vehicle and “special case” policies to clients. It is reckoned that some 80% of policies offered by Wheatdale are “tailored” to client requirements in some way. Whilst the ability to offer insurance to meet specific needs represents a major selling point to existing and prospective clients, provision of such policies is very resource-intensive and therefore less attractive financially than “standard” insurances.

Risk management: allied to its insurance services, Wheatdale undertakes risk management consultancy work, whereby the Group’s team of specialists visits clients in order to assess various types of risk, recommending appropriate methods of reducing exposure (often including referral to the Group’s Insurance Division to arrange cover).

Other services: these are extremely diverse in nature: personal pensions, investment analysis and advice, portfolio management for both the Group’s own funds and on behalf of corporate and private clients, accounting and tax services, management consultancy.

REQUIREMENT:

With respect to the proposed cost reduction programme, discuss

1. possible approaches which Wheatdale Group might take to effect the desired cost reductions; and

2. factors which should be accorded particular consideration in the design and/or implementation of such a programme.

CHAPTER 19

19.1 IB Ltd provides an Internet-based Stock Exchange information service to registered clients, who pay a fee per “downloading session” - i.e. for each occasion spent transferring information from IB Ltd’s computer to their own. The following information relates to March:


Downloading
Budgeted number of downloading sessions
15 000




Actual number of downloading sessions
13 100


Standard operating costs per client downloading session

System operators’ time (10 minutes @ £12 per hour)

£2.00


Variable overhead 





£3.00


Fixed overhead






£1.00









£6.00


Budgeted & actual costs

System operators:
actual - 1,800 hours costing £25 200.


Variable overhead:
actual - £42 000


Fixed overhead:
actual - £13 000





budgeted - £15 000.

REQUIREMENTS:

(a) Compute the following variances and present them in an operating statement which reconciles budgeted and actual total cost for March:



labour rate and efficiency



variable overhead expenditure



fixed overhead volume and expenditure.

(b) Explain the meaning of the fixed overhead volume variance.

(c) The Managing Director has suggested that the number of system operators should be reduced, as some of their time is “unproductively” spent advising clients on how to “navigate” IB Ltd’s complex database. The potential benefits of this course of action are seen as twofold: a reduction in labour costs coupled with an increase in revenue, as clients will require more downloading sessions to capture the data they require.

Comment on the Managing Director’s suggestion.

19.2 NAB Limited has produced the following figures relating to production for the week ended 21 May:








Production (in units)







Budgeted

Actual


Product A



    400


  400


Product B



    400


  300


Product C



    100


  140

Standard production times were:






Standard hours per unit


Product A



5.0


Product B



2.5


Product C



1.0

During the week 2800 hours were worked on production.

You are required

(a) (i) to calculate the production volume ratio and the efficiency ratio for the week ended 21 May;








(  4 marks) (ii)
to explain the significance of the two ratios you have calculated and to state which variances may be related to each of the ratios;



(  5 marks)

(b) to explain the three measures of capacity referred to in the following statement:
During the recent recession, increased attention was paid to “practical capacity” and ”budgeted capacity” because few manufacturing companies could anticipate working again at “full capacity”.






(  6 marks)










 (Total: 15 marks)

(CIMA Cost Accounting, May 1994)


19.3 A local restaurant has been examining the profitability of its set menu. At the beginning of the year the selling price was based on the following predicted costs:

Starter            Soup of the day

                       100 grams of mushrooms @ £3.00 per kg

                       Cream and other ingredients
   £

0.30

0.20

Main course   Roast beef
                       Beef 0.10 kgs @ £15.00 per kg

                       Potatoes 0.2 kgs @ £0.25 per kg

                       Vegetables 0.3 kgs @ £0.90 per kg

                       Other ingredients and accompaniments
1.50

0.05

0.27

0.23

Dessert           Fresh tropical fruit salad
                       Fresh fruit 0.15 kgs @ £3.00 per kg
0.45

The selling price was set at £7.50, which produced an overall gross profit of 60%.

During October 1998 the number of set menus sold was 860 instead of the 750 budgeted: this increase was achieved by reducing the selling price to £7.00. During the same period an analysis of the direct costs incurred showed:

90 kgs of mushrooms

Cream and other ingredients

70 kgs of beef

180 kgs of potatoes

270 kgs of vegetables

Other ingredients and accompaniments

140 kgs of fresh fruit
     £

   300

   160

 1148

     40

   250

   200

   450

There was no stock of ingredients at the beginning or end of the month.

REQUIREMENTS:

(a) Calculate the budgeted profit for the month of October 1998.

(  2 Marks)

(b) Calculate the actual profit for the month of October 1998.


(  3 Marks)

(c) Prepare a statement which reconciles your answers to (a) and (b) above, showing the variances in as much detail as possible.




(14 Marks)

(d) Prepare a report, addressed to the restaurant manager, which identifies the two most significant variances, and comments on their possible causes.

(  6 Marks)

  Total Marks = 25

(CIMA Operational Cost Accounting, November 1998)

19.4 You have been provided with the following data for S plc for September 1996:


Accounting method:



Absorption

Marginal


VARIANCES




      £


     £


Selling price




  1900 (A)

  1900 (A)


Sales volume




  4500 (A)

  7500 (A)


Fixed overhead expenditure


  2500 (F)

  2500 (F)


Fixed overhead volume


  
  1800 (A)

not applicable

During September 1996 production and sales volumes were as follows:








 Sales

Production



Budget



10 000

   10 000




Actual



  9 500

     9 700

REQUIREMENTS:

(a) Calculate

(i) the standard contribution per unit,

(ii) the standard profit per unit,

(iii) the actual fixed overhead cost total.



(  9 Marks)
(b) Using the information presented above, explain why different variances are calculated depending upon the choice of marginal or absorption costing.

(  8 Marks)
Explain the meaning of the fixed overhead volume variance and its usefulness to management.







(  5 Marks)

(c) Fixed overhead absorption rates are often calculated using a single measure of activity. It is suggested that fixed overhead costs should be attributed to cost units using multiple measures of activity (Activity Based Costing).

Explain “Activity Based Costing” and how it may provide useful information to managers. (Your answer should refer to both the setting of cost driver rates and subsequent overhead cost control).







(  8 Marks)










Total Marks = 30

(CIMA Operational Cost Accounting, November 1996)

19.5 The following profit reconciliation statement has been prepared by the management accountant of ABC Limited for March 1995:












    £


Budgeted profit







30 000


Sales volume profit variance






  5 250 A


Selling price variance







  6 375 F












31 125


Cost variances:




    A

   F








    £

   £


Material:
price



  1 985




usage





   400


Labour:
rate





9 800




efficiency


  4 000


Variable overhead:
expenditure



1 000





efficiency

  1 500


Fixed overhead:
expenditure



   500





volume


24 500

_____

20 285 A


Actual profit








10 840
The standard cost card for the company’s only product is as follows:










    £


Materials

5 litres @ £0.20


  1.00


Labour


4 hours @ £4.00


16.00


Variable overhead
4 hours @ £1.50


  6.00


Fixed overhead
4 hours @ £3.50



14.00









37.00


Standard profit






  3.00

Standard selling price





40.00
The following information is also available:

(1) There was no change in the level of finished goods stock during the month.

(2) Budgeted production and sales volumes for March were equal.

(3) Stocks of materials, which are valued at standard price, decreased by 800 litres during the month.

(4) The actual labour rate was £0.28 lower than the standard hourly rate.

REQUIREMENTS:

(a) Calculate the following:

(i) the actual production/sales volume,




(  4 Marks)

(ii) the actual number of hours worked,




(  4 Marks)

(iii) the actual quantity of materials purchased,



(  4 Marks)

(iv) the actual variable overhead cost incurred,



(  2 Marks)

(v) the actual fixed overhead cost incurred.



(  2 Marks)

(b) ABC Limited uses a standard costing system whereas other organisations use a system of budgetary control.
REQUIREMENT:

Explain the reasons why a system of budgetary control is often preferred to the use of standard costing in non-manufacturing environments.



(  9 Marks)










Total Marks = 25

(CIMA Operational Cost Accounting, May 1995)

19.6 A manufacturing business analyses its variances for fixed production overhead in accordance with the following diagram and it absorbs the fixed production overhead based on units produced.





Fixed production overhead variance


Fixed production overhead  
Fixed production overhead 

    expenditure variance
         volume variance


Capacity variance
Volume efficiency           

 
     variance

Budgeted information for the financial year ending 30 September 1994, is as follows:


Fixed production overhead



£5 990 400


Production, in units




  1 497 600


Machine hours





     499 200

The company operates a thirteen four-weekly reporting system and you can assume that the budgeted overhead is to be spread evenly throughout the year.

During the first four-week period of the financial year, the actual figures were:


Fixed production overhead incurred


£492 400


Production, in units




  123 504


Machine hours worked



   
    39 840

Note 1. A flood had brought down power lines and the factory had no power for 

half of one eight-hour shift on one day. Production was lost because machines were idle 

for 480 hours.

Note 2. Normally, two eight-hour shifts are worked on each of five working days each week. 

However, an extra eight-hour shift was worked on each of two Saturdays during the period; this resulted in 1920 extra machine hours being worked.

You are required

(a) to explain each of the five variances shown in the diagram and to calculate the appropriate variance for each within period one, using the information given;

(10 marks)

(b) to comment on the usefulness to management of reporting the sub-variances for
(i) capacity

and

(ii)
volume efficiency;





(  6 marks)

(c) to suggest an alternative way of reporting to management the consequences of the contents of Note 1 and Note 2, compared with that which you have used in your answer to (a) above.
(  4 marks)










 (Total: 20 marks)

(CIMA Cost Accounting, November 1993)

19.7 The following information relates to R plc for October 1997:


Bought 7800 kg of material R at a total cost of £16 380.


Stocks of material R increased by 440 kg.


Stocks of material R are valued using standard purchase price.


Material price variance was £1170 Adverse.

The standard price per kg for material R is:



Price



£/kg


A
1.95


B
2.10


C
2.23


D
2.25


E
2.38



(CIMA Operational Cost Accounting, November 1997)

19.8 Ermintrude plc is a medium sized company engaged in the manufacture and sale of specialist confectionery products. The company is organised into a number of cost centres, one of which  is responsible for the production of chocolate bars. Ermintrude operates a standard costing system and the following information is available:

(a) Standard performance data for a chocolate bar are as follows:

Each chocolate bar should contain 100 gms of coconut and banana filling surrounded by 150 gms of milk chocolate.

(i) The standard cost of the filling is £0.25 per 100 gms and the standard cost of milk chocolate is £0.20 per 100 gms.

(ii) Standard performance for the labour force is 2 minutes per bar at an hourly wage rate of £10.00.

(b) The actual performance of the chocolate bar cost centre during the last four week costing period was ascertained to be as follows:

Chocolate bars produced

23 000

Filling used



  2 600 kg

Milk chocolate used


  3,800 kg

Cost of filling



£6 400

Cost of milk chocolate


£7 500

Labour hours worked


     850 hr

Labour costs



£8 400

Note: 1,000 gms = 1 kg

Requirements

From the above information you are required to:

(a) Calculate all the materials and labour variances for the chocolate bar cost centre, for the last four week costing period.





(12 marks)

(b) Comment on the possible causes for the variances.



(  4 marks)

(c) The chocolate bar production area is a cost centre. Name two other types of responsibility centre and briefly explain how they are different from a cost centre.

(  4 marks)

(20 marks)

(CIPFA Management Accounting, June 1999)

19.9 The following details have been extracted from the standard cost card for product X:









£/unit


Variable overhead



4 machine hours @ £8.00 per hour

32.00



2 labour hours @ £4.00 per hour

  8.00


Fixed overhead





20.00

During October 1997, 5450 units of the product were made compared to a budgeted production target of 5500 units. The actual overhead costs incurred were:


Machine-related variable overhead

£176 000


Labour-related variable overhead

£  42 000


Fixed overhead




£109 000

The actual number of machine hours was 22 000 and the actual number of labour hours was 10 800.

REQUIREMENTS:

(a) Calculate the overhead cost variances in as much detail as possible from the data provided.








(12 Marks)

(b) Explain the meaning of, and give possible causes for, the variable overhead variances which you have calculated.






(  8 Marks)

(c) Explain the benefits of using multiple activity bases for variable overhead absorption.

(  5 Marks)










  Total Marks = 25

(CIMA Operational Cost Accounting, November 1997)

19.10 MM Ltd, a manufacturer of duvets, operates a computerised standard costing system and a virus has recently caused the loss of some key data. The following fragmentary information is available:


Variances

direct material price variance


£1572 A


direct material usage variance


£2640 F


direct labour rate variance


£2050 F


direct labour efficiency variance

£3900 A


variable overhead expenditure variance
£3400 A


Actual data

Output
12 000 units




Direct materials used: 26 200 kg, cost £90 652


Direct labour cost: 10 250 hours, cost £59 450


Variable overhead: £49 525.

Your investigations have also revealed that the actual rate of pay for direct labour was £0.20 per hour lower than the standard and that the material price variance is extracted when materials are issued to production from stores.

REQUIREMENTS:

(a) Using the information given, prepare a statement showing the standard variable cost per unit along with the standard resource inputs for each of direct labour, direct materials and variable overhead.

(b) From a cost control standpoint, evaluate MM Ltd’s policy of extracting the material price variance at point of issue from stores to production.

19.11 The following operating statement relates to TRN Ltd, a manufacturer of cardboard packaging, for last year:


Original (fixed) budgeted profit





£4 500 000


Sales volume variance






£1 200 000 A


Flexible budget profit






£3 300 000


Variances



      F

      A

Selling price: 





£600 000


Direct material: price




£  70 000




usage 


£  30 000


Direct labour:
rate


£104 000




efficiency



£116 000


Fixed overhead: expenditure

£400 000



   
 volume



£  14 000


Selling & distribution costs

£300 000
               








£834 000
£800 000
£    34 000 A


Actual profit







£3 266 000

Additional information
1. Management has expressed satisfaction that, faced with difficult trading conditions, actual profit was roughly in line with budget.

2. During the year to which the operating statement refers, the company underwent a major cost-cutting and downsizing exercise, which is reflected in the variances for labour rate, fixed overhead expenditure and selling & distribution costs.

REQUIREMENT:

Draft a report to TRN Ltd’s Chief Executive analysing the company’s performance (as far as the information permits), and indicating any areas of possible concern.

19.12 A manufacturing company has recently introduced a system of standard costing and you, as the assistant management accountant, wish to demonstrate the value of the system to management. The following data apply to period 4 which was a four-week financial period.


Direct materials


Purchases:
Material A
50 000 kilogrammes for £158 750




Material B
25 000 kilogrammes for £105 000


Used:

Material A
  4 800 kilogrammes




Material B
  1 800 kilogrammes


Direct labour


Actual hours worked
Wages paid


Department 1



3000

  £11 800


Department 2



2400

  £13 250


Budgeted normal capacity expressed in direct labour hours


Department 1



3400 hours


Department 2



2600 hours


Other information


Standard cost for 1 unit of finished product








Quantity
Price










  £
     £

Direct material A



10 kgs

3.25
  32.50


Direct material B



  5 kgs

4.00
  20.00


Direct wages Dept 1



  8 hours
4.00
  32.00


Direct wages Dept 2



  5 hours
5.00
  25.00










109.50
It has been decided to extract the material price variance at time of receipt.

400 finished goods units were produced in the period.

You are required

(a) to calculate price and usage variances for each of the direct materials A and B;
(  4 marks)

(b) to calculate rate and efficiency variances for the direct labour employed by each of Departments 1 and 2;






(  4 marks)

to suggest one possible reason for each of the variances shown in your answers to (a) and (b) above without stating the same reason more than once;


(  8 marks)

(c) to calculate for Department 1 and for Department 2
(i) the production volume ratio,

(ii)
the efficiency ratio;





(  4 marks)

(e) to appraise critically the decision to calculate and extract material price variances at the time of receipt.







(  5 marks)

 (Total: 25 marks)

(CIMA Cost Accounting, May 1990)
CHAPTER 20

20.1 A firm uses standard costing and an integrated accounting system. The double entry for an adverse material usage variance is


A
DR stores control account



CR work-in-progress control account


B
DR material usage variance account



CR stores control account


C
DR work-in-progress control account



CR material usage variance account


D
DR material usage variance account



CR work-in-progress control account

(CIMA Cost Accounting & Quantitative Methods, November 1997)

20.2 T plc uses a standard costing system, with its material stock account being maintained at standard cost. The following details have been extracted from the standard cost card in respect of direct materials:


8 kg @ £0.80/kg = £6.40 per unit


Budgeted production in April 1999 was 850 units.

The following details relate to actual materials purchased and issued to production during April 1999 when actual production was 870 units:


Materials purchased


8200 kg costing £6888


Materials issued to production

7150 kg

Which of the following correctly states the material price and usage variances to be reported?



Price


Usage

A
£286(A)

£152(A)


B
£286(A)

£280(A)


C
£286(A)

£294(A)


D
£328(A)

£152(A)


E
£328(A)

£280(A)

(CIMA Operational Cost Accounting, May 1999)
20.3 D plc operates a standard absorption costing system. Its standard fixed overhead absorption rate, based on a monthly budget of 2400 standard hours, is £5.00 per standard hour.

During October 1996, the actual fixed overhead cost incurred was £13 100 when the standard hours produced were 2350.

The variance entries in D plc's ledger are:


A





   Dr

  Cr

Account name




   £

  £
Fixed overhead expenditure variance

1100

Fixed overhead volume variance

  250

Work-in-progress





1350

B





   Dr

  Cr

Account name




   £

  £
Work-in-progress





850

Fixed overhead expenditure variance

1100

Fixed overhead volume variance



250

C





   Dr

  Cr

Account name




   £

  £
Fixed overhead expenditure variance

1350


Fixed overhead volume variance

  250

Fixed overhead control





1600

D





   Dr

  Cr

Account name




   £

  £

Fixed overhead expenditure variance

1350

Fixed overhead volume variance



  250

Fixed overhead control





1100

E





   Dr

  Cr

Account name




   £

  £

Fixed overhead expenditure variance

1100

Fixed overhead volume variance

  250

Fixed overhead control





1350

(CIMA Operational Cost Accounting, November 1996)
20.4 Q plc uses a standard absorption costing system which it developed five years ago. Three years ago, the specification of Q plc's material requirements changed and its standard costs were revised. Apart from this, the only change made to Q plc's material standards is to update its standard prices each year when preparing its annual budgets. Q plc calculates its material price variance at the time of purchase.

One of Q plc's products - product 2258 - uses material R. It is the only product made by Q plc which uses this material. According to the standard cost card, 5.00 kgs of material R are required per unit of product 2258, and the standard price of material R during the year ending 30 June 1996 is £3.00 per kg. During April 1996, seven hundred units of product 2258 were manufactured. There was no opening stock of material R on 1 April 1996. During April 1996, 4000 kgs of material R were purchased at a cost of £12 800. At the end of the month, on 30 April 1996, there were 320 kgs of material R in stock.

REQUIREMENTS:

(a) Calculate the material price and usage variances for April 1996 using the standard cost data shown on the standard cost card.



  4 Marks
(b) Prepare journal entries to record the transactions in material R during April 1996, using your answer to part (a) above.



  4 Marks
(c) Explain the advantages and disadvantages of calculating the material price variance at the time of purchase.





  6 Marks
(d) The standard shown on the standard cost card assumes 0% material wastage, though 5% wastage is considered normal.

Recalculate the material usage variance using a more appropriate standard, AND explain why this is more useful to management than the usage variance calculated in your answer to (a) above.



 

 5 Marks
(e) Explain the difference between

(i) attainable standards, and

(ii) ideal standards.

Use the information in the question to assist in your explanation.
  6 Marks









Total Marks = 25

(CIMA Operational Cost Accounting, May 1996)
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